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HIT THE BULL’S EYE 
TEST XXX PREMODEL IV 

(UNIT VIII, UNIT IX, MENTAL ABILITY, THIRUKURAL & GENERAL ENGLISH) 
 

1. Which book describes the ships that carried goods from the country and 
returned with gold? 
a. Aganaanooru  b. Puranaanooru   c. Pattinapaalai 
d. Maduraikaanchi  e. Answer not known 
ehl;Lg;nghUs;fis tpw;Wg; nghd;Dld; jpUk;gp tUk; ngUk; ehtha;fisg; 
gw;wpf;Fwpg;gpLk; E}y; vJ? 
a. mfehD}W   b. GwehD}W    c. gl;bdg;ghiy 
d. kJiuf;fhQ;rp  e. tpilnjhpatpy;iy 

 
2. To which king of the Sangam period do the stone carvings in Maangkulam caves 

belong to according to Iyravadam Mahadevan? 
a. Nedunjcherazhaadan b. Nedunjchezhian  c. Aadhityathchozhan 
d. Irumporai   e. Answer not known 
Iuhtjk; kfhNjtd;> kJiuf;F mUfpy; cs;s khq;Fsk; Fiff;fy;ntl;Lfs; 
ve;j rq;ffhu kd;dDilait vd;W Fwpg;gpLfpwhh;? 
a. neLQ;Nruohjd;  b. neLQ;nropad;  c. Mjpj;jr;Nrhod; 
d. ,Uk;nghiw  e. tpilnjhpatpy;iy 

 
3. Which book / stone carving / copper plate mentions having brought plenty of 

expensive goods from the Pandiya ruler? 
a. Ashoka‟ stone inscription b. Hathikumpa stone inscription c. Indica 
d. Jambai stone inscription  e. Answer not known 
ghz;ba kd;dhplkpUe;J Vuhskhd tpiyAah;e;j nghUl;fisf; fth;e;J te;jijf; 
Fwpg;gpLk; E}y; / fy;ntl;L / nrg;NgL vJ? 
a. mNrhfh; fy;ntl;L  b. `jpFk;gh fy;ntl;L  c. ,z;bfh 
d. [k;igf; fy;ntl;L  e. tpilnjhpatpy;iy 

 
4. Kadaichchangam is one of the three Sangam‟s. It flourished due to whom? 

a. Kaichina Vazhudhi I to Kadungkon 
b. Vender Chezhiyan I to Mudaththirumaaran 
c. Mudaththirumaaran to ukkirapperuvazhudhi 
d. Cheran Senguttuvan to Nedunchezhian  
e. Answer not known  
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Kr;rq;fq;fspy; xd;whd filr;rq;fj;ij tsh;j;jth;fs; ahh;? 
a. fha;r;rpd tOjp Kjy; fLq;Nfhd; tiu 
b. Ntz;Nlh;r; nropad; Kjy; Klj;jpUkhwd; tiu 
c. Klj;jpUkhwd; Kjy; cf;fpug;ngUtOjp tiu 
d. Nrud; nrq;Fl;Ltd; Kjy; neLQ;nropad; tiu 
e. tpilnjhpatpy;iy 

 
5. Match the following 

A. Paari   1. Kandeeramalai 
B. Aay Andiran  2. Parambumalai 
C. Nalli   3. Podhiyamalai 
D. Pegan   4. Pazhanimalai 

A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 2 4 1 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
A. ghhp   1. fz;Bukiy 
B. Ma; mz;bud;  2. gwk;Gkiy 
C. es;sp   3. nghjpa kiy 
D. Ngfd;   4. godpkiy 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 2 4 1 
d. 4 3 2 1 
e. tpilnjhpatpy;iy 

 
6. From the books below, which of them speak of moral values? 

I. Thirukkural  II. Aaththichchoodi  III. Tholkaappiyam 
IV. Moodhurai  V. Nalvazhi 
a. I, II, III   b. I, II, IV, V   c. I, II, IV 
d. I, II, III, IV and V  e. Answer not known  
fPo;f;fz;ltw;Ws; mwk; tiuf;Fk; E}y;fs; vJ/vit? 
I. jpUf;Fws;   II. Mj;jpr;#b   III. njhy;fhg;gpak; 
IV. %Jiu   V. ey;top 
a. I, II, III   b. I, II, IV, V   c. I, II, IV  
d. I, II, III, IV kw;Wk; V e. tpilnjhpatpy;iy 

 
7. Match: 

A. Vaagai  1. Defending the wall blocked by the enemy 
B. Nochchi  2. Adorned by one who is victorious in war 
C. Paadaan  3. King‟s fame, sing in praise of generosity 
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A B C  
a.  1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 2 3 1 
e. Answer not known 
nghUj;Jf 
A. thif  1. giftuhy; Kw;Wifapl;l kjpiyf; fhj;jy; 
B. nehr;rp  2. Nghhpy; ntw;wp ngw;wth; #LtJ 
C. ghlhz;  3. kd;ddpd; Gfo;> nfhil ghLjy; 
 A B C  
a.  1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 2 3 1 
e. tpilnjhpatpy;iy 

 
8. tpidj;jpl;g mwpQh; nfhs;if ve;j ,uz;bd; topr; nry;Yk;?  

a. ,ilA+iw ca;jwpe;J fhj;Jf;nfhs;Sjy;  
b. CW NehpDk; jsuhik  
c. CW Nehpd; nraiy tpl;LtpLjy;  
d. a kw;Wk; b  
e. tpil njhpatpy;iy  
__________ are the two maxims which, the wise say, from the principles of those 
who have investigated the subject. 
a. Not to perform a ruinous act 
b. not to be discouraged by the ruinous termination of an act 
c. to be discouraged by the ruinous termination of an act 
d. a and b 
e. Answer not known 

 
9. In Aaganaanooru, Puranaanooru, Nattrinai, Kurunthogai and Iiyinkurunooru 

the invocation to god is sung by _____ 
a. Bhaaratham Paadiya Perunthevanaar   b. Sekkhizhar 
c. Koovoorkizhar     d. Baranar    
e. Answer not known 
mfehD}W> GwehD}W> ew;wpiz> FWe;njhif> Iq;FWE}W Mfpa Ie;J njhif 
E}y;fSf;Fk; flTs; tho;j;Jg; ghbath; ahh;? 
a. ghujk; ghba ngUe;Njtdhh;  b. Nrf;fpohh;  c. NfhT+h;fpohh; 
d. guzh;     e. tpilnjhpatpy;iy 

 
10. Which of the following statements on the status of women during the period 13th 

– 18th century in Tamil Nadu is correct? 
I. Sati was practised. 
II. Brahmin women did not practise Sati instead they tonsured their head. 
a. I alone b. II alone c. I and II d. none e. Answer not known 
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jkpofj;jpy; 13-18Mk; E}w;whz;L tiuapyhd fhyfl;lj;jpy; ngz;Bh; epiy 
Fwpj;J fPo;f;fz;ltw;Ws; rhpahdit vit? 
I. cld;fl;il Vwy; tof;fj;jpy; ,Ue;jJ 
II. gpuhkzg; ngz;bh; cld;fl;il Vwhky; jiyia nkhl;ilabj;Jf; nfhz;L 

tho;e;jdh; 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. vJTkpy;iy  e. tpilnjhpatpy;iy 

 
11. Which of the following are South Indian Languages? 

a. Tamil, Telugu, Kannadam and Malayalam 
b. Tamil, Telugu, Dongiri, Bodo 
c. Tamil, Kannadam, Hindi, Malayalam 
d. Tamil, Malayalam, Tulu, Telugu 
e. Answer not known 
fPo;f;fz;ltw;Ws; njd;dpe;jpa nkhopfs; ahit?  
a. jkpo;> njYq;F> fd;dlk;> kiyahsk;    
b. jkpo;> njYq;F> Nlhq;fphp> NghNlh 

c. jkpo;> fd;dlk;> `pe;jp> kiyahsk;    
d. jkpo;> kiyahsk;> JS> njYq;F 
e. tpilnjhpatpy;iy 

 
12. Who was/were the scholar/scholars who had contributed for the research on 

Dravidian languages? 
I. Camilsuvalabil II. Aandhiranov III. Tho.Po. Meenakshi Sundaram 
IV. Caldwell  V. Borough 
a. I, III, IV  b. I, III, IV, V   c. I and II   
d. I, II, III, IV, V e. Answer not known 
fPo;f;fz;l mwpQh;fspy; jpuhtpl nkhopfspd; Ma;tpw;Fg; gq;fspg;G 
nra;jth;fs;/nra;jth; ahh;?  
I. fkpy;Rtygpy;  II. Me;jpuNdht;  III. njh.ngh. kPdhl;rp Re;juk;  
IV. fhy;Lnty;  V. gNuh 
a. I, III, IV   b. I, III, IV, V   c. I kw;Wk; II   
d. I, II, III, IV, V  e. tpilnjhpatpy;iy 
 

13. Which of the following languages were Cenral Dravidian languages? 
I. Telugu  II. Thoda III. Kurooth  IV. Konda 
a. I, II alone  b. I, III alone   c. III, IV alone  
d. I, IV alone  e. Answer not known 
fPo;f;fz;l nkhopfspy; eLj;jpuhtpl nkhopf;FLk;gj;ijr; rhh;e;jit vit?  
I. njYq;F   II. Njhlh  III. F&j;  IV. Nfhz;lh  
a. I, II kl;Lk;  b. I, III kl;Lk;   c. III, IV kl;Lk;   
d. I, IV kl;Lk;  e. tpilnjhpatpy;iy 

 
14. Who wrote the commentory notes for „Tholkaapiya Sol Adhigaaram‟ alone? 

a. Senaavaraiyar  b. Deivasilaiyaar  c. Kallaadanaar  
d. All the above  e. Answer not known 
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njhy;fhg;gpa nrhy;yjpfhuj;jpw;F kl;Lk; ciu vOjpath; ahh;?  
a. Nrdhtiuah;  b. nja;trpiyahh;   c. fy;yhldhh;  
d. Nkw;fz;l midtUk;  e. tpilnjhpatpy;iy 

 
15. Match the following 

A. Agananooru  1. Pooriko 
B. Kaliththogai  2. Uruththirasanmanaar 
C. Kurunthogai  3. Nallanthuvanaar 
D. Ainkurunooru  4. Puliththurai Muttriya Kadaloorkkizhaar 
 A B C D 
a.  1 2 3 4 
b.  2 3 1 4  
c.  4 3 2 1    
d.  3 2 1 4 
e. Answer not known 
nghUj;Jf:  
A. mfehD}W   1. G+hpNfh  
B. fypj;njhif  2. cUj;jpurd;kdhh;  
C. FWe;njhif   3. ey;ye;Jtdhh;  
D. Iq;FWE}W  4. Gypj;Jiw Kw;wpa flY}h;f;fpohh; 
 A B C D 
a.  1 2 3 4 
b.  2 3 1 4  
c.  4 3 2 1    
d.  3 2 1 4 
e. tpilnjhpatpy;iy 

 
16. fPo;f;fz;ltw;Ws; rhpahdij Njh;e;njLf;fTk;.  

1. nra;Ak; nraiy Kbtpy; ntspg;gLk; gbahfr; nra;Ak; jFjpNa 
Mz;ikahFk;.  

2. nra;Ak; nray; ,ilapy; ntspg;ghl;lhy; ,d;gj;ijf; nfhLf;Fk;.  
3. xU njhopypd; jpl;gk; vd;W nrhy;yg;gLtJ xUtDila kdj;jpd; jpl;gNk 

MFk;  
a. 2 kl;Lk;  b. 1, 2   c. 1, 3   d. 2, 3  e. tpilnjhpatpy;iy 
Choose the correct statements 
1. So to perform an act as to publish it (only) at its termination is (true) 

manliness 
2. for to announce it beforehand, will cause irremediable happiness 
3. Firmness in action is (simply) one's firmness of mind; 
a. 2 only  b. 1, 2  c. 1, 3  d. 2, 3 e. answer not known 

 
17. Which work is referred as, “Oththa Irumbukkadalai”? 

a. Pathittruppattru  b. Paripaadal   c. Aingkurunooru  
d. Aganaanooru  e. Answer not known 
“xj;j ,Uk;Gf;fliy” vd;w milnkhopNahL miof;fg;gLk; E}y;  
a. gjpw;Wg;gw;W   b. ghpghly;    c. Iq;FWE}W  
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d. mfehD}W   e. tpilnjhpatpy;iy 
18. Match the following 

A. Araththuppaal  1. OOzhiyal 
B. Porutpaal   2. Angaviyal 
C. Kaamaththuppaal 3. Kalaviyal 
 A B C 
a. 1 2 3  
b. 3 2 1 
c. 2 1 3  
d. 2 3 1  
e. Answer not known 
nghUj;Jf:  
A. mwj;Jg;ghy;   1. Copay; 
B. nghUl;ghy;  2. mq;ftpay; 
C. fhkj;Jg;ghy;  3. fstpay;  
 A B C 
a. 1 2 3  
b. 3 2 1 
c. 2 1 3  
d. 2 3 1 
e. tpilnjhpatpy;iy  

 
19. “The highly learned and knowledgeable person is one who has travelled 

widely,” are lines written by whom? 
a. Mundrurai Araiyanaar  b. Kabilar   c. Moovaadhiyaar 
d. Nallaadhanaar   e. Answer not known 
“Mw;wTk; fw;whh; mwpTilahh;; m/Jilahh;  
ehw;wpirAk; nry;yhj ehby;iy” vd;Dk; ghly;  
thpapd; Mrhpah; ahh;? 
a. Kd;Wiw miuadhh;  b. fgpyh;   c. %thjpahh;  
d. ey;yhjdhh;    e. tpilnjhpatpy;iy 

 

20. Simplify 214 112 74 49    
a. 15    b. 18   c. 25   d. 17  e. Answer not known 

RUf;Ff 214 112 74 49    
a. 15    b. 18   c. 25   d. 17  e. tpil njhpatpy;iy 

 
21. X alone can do a piece of work in 6 days and Y alone in 8 days.  X and Y 

understook the work for Rs.4800.  With the help of Z, they complete the work in 
3 days.  How much is Z‟s share? 
a. Rs.900  b. Rs.600   c. Rs.800   
d. Rs.1000  e. Answer not known 
 



 

7 | Page  044-24339436, 42867555, 9840226187 
 

X vd;gth; jdpNa xU Ntiyia 6 ehl;fspYk;> Y vd;gth; jdpNa mNj 
Ntiyia 8 ehl;fspYk; Kbg;gh;. X kw;Wk; Y MfpNahh; ,e;j Ntiyia ì 4800 
,f;F xg;Gf; nfhz;ldh;. Z vd;gthpd; cjtpAld;> mth;fs; me;j Ntiyia 3 
ehs;fspy; Kbj;jdh; vdpy;> njhifapy; Z ,d; gq;F vt;tsT?  
a. Rs.900  b. Rs.600   c. Rs.800   
d. Rs.1000  e. tpil njhpatpy;iy 

 
22. Find the sum of the first 40 terms of the series 12 – 22 + 32 – 42  + ……  

a. 820  b. – 820 c. 870  d. – 870 e. Answer not known 
12 – 22 + 32 – 42  + …… vd;w njhlhpd; Kjy; 40 cWg;Gfspd; $l;lw; gyidf; 
fhz;f: 
a. 820  b. – 820 c. 870  d. – 870 e. tpil njhpatpy;iy 

 

23. Simplify :  
3 54 81 216 32   = ? 

a. 10  b. 11  c. 9  d. 4  e. Answer not known 

RUf;Ff : 
3 54 81 216 32   = ? 

a. 10  b. 11  c. 9  d. 4  e. tpil njhpatpy;iy 
 
24. gpd;tUtdtw;iw Ma;f 

$w;W 1 (S1): ',r;nraiy ,t;thW nra;J Kbf;fyhk;" vd;W nrhy;Yjy;  
  vth;f;Fk; vspadthk;.  
$w;W 2 (S2) : nraiy nrhy;ypagb nra;J Kbj;jy; mhpadthk;.  
a. S1 rhp Mdhy; S2 jtW   b. S1 jtW Mdhy; S2 rhp  
c. S1 kw;Wk; S2 ,uz;Lk; rhp  d. S1 kw;Wk; S2 ,uz;Lk; jtW  
e. tpilnjhpatpy;iy 
Consider the following 
Statement 1 (S1): To say (how an act is to be performed) is (indeed) easy for any 
one 
Statement 2 (S2): far difficult it is to do according to what has been said. 
a. S2 correct but S2 incorrect b. S2 incorrect but S2 correct 
c. S1 and S2 correct   d. S1 and S2 are incorrect 
e. Answer not known 
 

25. A alone can do a piece of work in 35 days.  If B is 40% more efficient than A, then 
B will finish the work in? 
a. 20 days  b. 10 days   c. 25 days   
d. 6 days  e. Answer not known 
A vd;gth; jdpNa xU Ntiyia 35 ehs;fspy; Kbg;ghh;. B Mdth;> A I tpl 
40% $Ljy; jpwd; tha;e;jth; vdpy;> B Mdth; me;j Ntiyia vj;jid 
ehs;fspy; Kbg;ghh;.  
a. 20 ehl;fs;  b. 10 ehl;fs;   c. 25 ehl;fs;   
d. 6 ehl;fs;  e. tpil njhpatpy;iy 
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26. Choose the incorrectly matched pair 
a. Poigaiyaazhvaar   - Thiruvandhaadhi I 
b. Boodhaththaazhvaar  - Thiruvandhaadhi II 
c. Thirutamizhisaiaazhwaar - Thiruchchandha Viruththam 
d. Peyaazhvaar   - Thiruvandhaadhi IV 
e. Answer not known 
jtwhf nghUe;jpa ,iziaj; Njh;e;njLf;fTk;  
a. ngha;ifaho;thh; - Kjy; jpUte;jhjp     
b. G+jj;jho;thh;  - ,uz;lhk; jpUte;jhjp 
c. jpUkopiraho;thh; - jpUr;re;j tpUj;jk;  
d. Ngaho;thh;  - ehd;fhk; jpUte;jhjp 
e. tpilnjhpatpy;iy 

 
27. Which book states the detailed account of the flourishing trade during the reign 

of Karikaalan? 
a. Manimegalai  b. Pattinappaalai  c. Maduraikkaanji  
d. Silappadhikaaram e. Answer not known 
fupfhydpd; Ml;rpapd;NghJ mq;F eilngw;w tzpf eltbf;iffs; gw;wpa 
tpupthd nra;;jpfis toq;fpa E}y;? 
a. kzpNkfiy  b. gl;bdg;ghiy  c. kJiuf;fhQ;rp  
d. rpyg;gjpfhuk;  e. tpilnjhpatpy;iy 

 
28. The Krishnadevaraayar temple at Raameswaram was built by ______ 

a. Govindan III  b.Krishnar III   c. Amoga Varshar  
d. Krishnar II   e. Answer not known 
,uhNk];tuj;jpy; fpU~;zNjtuhau; Nfhtpiy fl;batu; 
a. %d;whk; Nfhtpe;jd; b. %d;whk;; fpU~;zh; c. mNkhf tu;~u;  
d. ,uz;lhk; fpU~;zu; e. tpilnjhpatpy;iy 

 
29. Who was conferred the title gunabaaran? 

a. Simma Vishnu    b. Mahendravarman I 
c. Narasimmavarman I   d. Narasimmavarman II 
e. Answer not known 
Fzghud; vd;Dk; gl;lk; ngw;wtu; 
a. rpk;k tp~;Z    b. Kjyhk; kNfe;jputu;kd; 
c. Kjyhk; eurpk;ktu;kd;   d. ,uz;lhk; eurpk;ktu;kd; 
e. tpilnjhpatpy;iy 

 
30. Vaishnavite sage Thirugnana Sambandar converted ____ from Jainism to 

Saivisim. 
a. Sri Vallabhan   b. Idila Paraandaga Nedunchadaiyan 
c. Varagunan II   d. Maaravarman Harikesari 
e. Answer not known 
irtj; Jwtpahd jpUQhd rk;ge;ju; ahiu rkz rkaj;jpypUe;J irtj;jpw;F 
khw;wpdhu;. 
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a. = ty;ygd;   b. [by guhe;jf neLQ;rilad; 
c. ,uz;lhk; tuFzd;  d. khwtu;kd; mupNfrup 
e. tpilnjhpatpy;iy 

 
31. Choose the correct statements about Marcopolo 

1. Marcopolo the famous traveller from the land of Venice, had visited Kaayal 
twice. 

2. He has recorded that this seaport city was crowded with Avabian and 
Chineseships, and that trade flourished then. 

a. I only   b. II only   c. I and II 
d. None of these  e. Answer not known 
khh;f;NfhNghNyh gw;wpa $w;Wfspy; rhpahdij Njh;e;njL 
1. ntdp]; ehl;ilr; Nru;e;j Gfo;ngw;w gazpahd khu;f;NfhNghyh ,uz;L Kiw 

fhaYf;F tUif je;jhu;. 
2. ,j;JiwKf efu; muhgpa> rPd fg;gy;fshy; epuk;gpapUe;jJ vd;Wk; 

tpWtpWg;ghd tzpf eltbf;iffis nfhz;bUe;jjhfTk; $wpdhu;. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 

 
32. fyq;fhJ fz;l tpidf;fz; Jsq;fhJ  

___________ fbe;J nray;.  
a. J}f;fk;    b. Jg;GuT     c. Jd;dpahh;   
d. Jwthh;    e. tpil njhpatpy;iy  
kalangaadhu kaNda vinaikkaN thuLangaadhu 
______ katindhu seyal 
a. ThookkanG  b. Thuppuravu   c. Thunniyaar 
d. Thuravaar   e. Answer not known 
 

33. Consider the following statements 
1. In the Ennaayiram village, Rejendran I had built a Vedic college. This college 

had 14 teachers and they guided 350 students in Vedas, literature and the 
Upanishads. 

2. As a consequence of this in Thirubuvanai near modern Puducherry and in 
Thirumukkoodal in Chengalpattu district similar colleges were built in 1048 
and 1067 

a. 1 is correct, 2 is wrong  b. 1 is wrong, 2 is correct 
c. Both 1 and 2 are correct  d. Both 1 and 2 are wrong 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. Kjyhk; uhN[e;jpud; vz;zhapuk; vd;Dk; fpuhkj;jpy; Ntjf; fy;Y}up xd;iw 

epWtpdhu;> mf;fy;Y}upapy; 14 Mrpupau;fspd; topfhl;Ljypy; 350 khztu;fs; 
Ntjq;fs;> ,yf;fpak;> cgepljq;fs; Mfpatw;iwf; fw;wdu;. 

2. ,jd; tpisthf ,d;iwa GJr;Nrupf;F mUNf cs;s jpUGtid vd;Dk; 
CupYk;> nrq;fy;gl;L khtl;lj;jpYs;s jpUKf;$lypYk; KiwNa 1048> 1067 
Mfpa Mz;Lfspy; ,Nj Nghd;w fy;Y}upfs; epWtg;gl;ld.  

a. 1 rup> 2 jtW  b. 1 jtW> 2 rup  c. 1 kw;Wk; 2 rup  
d. 1 kw;Wk; 2 jtW  e. tpilnjhpatpy;iy 



 

10 | Page  044-24339436, 42867555, 9840226187 
 

34. Consider the following statements 
1. Archaeological survey of the great Stone Age found gold ornaments in the 

old cities of Suththukkeni, Kodumanal, Aadhichchanallur, Arikkamedu, 
Keezhadi and Pattanam. 

2. During excavations at Keezhadi a pearl was found. It is noteworthy. 
3. During the Sangam Period conches were collected from the seashore of 

Pambhan. 
4. Making thread from cotton was done with power looms.  
a. 1, 2 are correct  b. 1, 2, 3 are correct  c. 2, 3, 4 are correct 
d. all are correct  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. ngUq;fw;fhyj;ijr; Nru;e;j mfoha;T fsq;fshd Rj;Jf;Nfzp> 

nfhLkzy;> Mjpr;rey;Y}u; Mfpa ,lq;fspYk;> mupf;fNkL fPob> gl;lzk; 
Mfpa goq;fhy efuq;fspYk; jq;f mzpfyd;fs; fpilj;Js;sd. 

2. fPob mfoha;tpd;NghJ xU Kj;J fpilj;Js;sik Fwpg;gplj;jf;fJ. 
3. rq;ffhyj;jpy; ghk;gd; fly;gFjpfspy; ,Ue;J rq;Ffis Nrfupj;jdu;. 
4. gUj;jpapypUe;J E}iy vLg;gjw;F E}y; E}w;Fk; fjpu; gad;gl;lJ. 
a. 1, 2 rhp   b. 1, 2, 3 rhp   c. 2, 3, 4 rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
35. Which port city belonging to the Sangam Period was excavated by the 

Archaeologucal Survey of India? 
a. Kodumanal b. Keezhadi    c. Arikkamedu  
d. Porundhal  e. Answer not known 
,e;jpa njhy;ypay; Ma;Tj; Jiwapdu; mfoha;T nra;j rq;f fhy 
JiwKfg;gl;bdk;  
a. nfhL kzy;  b. fPob     c. mupf;fNkL   
d. nghUe;jy;  e. tpilnjhpatpy;iy 

 
36. The first cartoon of the political state in South India was depicted on the stone 

carving ____. 
a. Nanicot inscription  b. Tamil Brahmi inscription 
c. Naagic inscription  d. Ashoka inscription 
e. Answer not known 
njd;dpe;jpahtpd; murpay; epiy Fwpj;j Kjy; rpj;jpuj;ij toq;Fk; fy;ntl;L 
a. edpfhl; fy;ntl;L  b. jkpo; gpuhkp fy;ntl;L 
c. ehfpf; fy;ntl;L   d. mNrhfu; fy;ntl;L 
e. tpilnjhpatpy;iy 

 
37. Kasakudi copper plates denotes the penalties imposed during the period of 

__________ 
a. Nandivarman  b. Narasimhavarman  c. Varagunan I 
d. Pulikesi I   e. Answer not known 
mguhjq;fs; gw;wp Fwpg;gpLk; fhrf;Fb nrg;NgL ve;j kd;dhpd; fhyj;ijr; 
rhh;e;jJ? 
a. ee;jptu;kd;   b. eurpk;ktu;kd;  c. Kjyhk; tuFzd;  
d. Kjyhk; GypNfrp  e. tpilnjhpatpy;iy 
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38. Match the following 

A. Mantri Mandalam   1. Official for donations 
B. Ragasyathigiradha   2. Guardian of Treasury 
C. Maanikka Pandaaram Kaappaan 3. Government‟s secret secretory  
D.Kodukkappillai    4. Council of Ministers 
E. Neethirmandram    5. Dharmadhikari 
F. Neethipadhigal    6. Adhikaana Mandapam 

A B C D E F 
a. 4 6 1 3 5 2 
b. 5 1 2 6 3 4 
c. 4 3 2 1 6 5 
d. 2 5 4 3 1 6 
e. Answer not known 
nghUj;Jf. 
A. ke;jpup kz;lyk;    1. ed;nfhilfSf;fhd mjpfhup 
B. uf];ajpfpujh    2. fUT+yj;ij fhg;gtu; 
C. khzpf;f gz;lhuk; fhg;ghd;  3. murpd; me;juq;f nrayhsu; 
D. nfhLf;fhg;gps;is   4. mikr;ru; FO 
E. ePjpkd;wq;fs;    5. ju;khjpfhup 
F. ePjpgjpfs;     6. mjpfhz kz;lgk; 

A B C D E F 
a. 4 6 1 3 5 2 
b. 5 1 2 6 3 4 
c. 4 3 2 1 6 5 
d. 2 5 4 3 1 6 
e. tpilnjhpatpy;iy 

 
39. Choose the correct Statement? 

1. F.W Ellis, Formulated the theory that the South Indian languages belonged to 
a separate family which was unrelated to the Indo-Aryan family of 
Languages  

2. Robert Caldwell, established the close affinity between the Dravidian 
Languages in contrast with Sanskrit and also established the antiquity of 
Tamil. 

3. Maraimalai Adigal was the first to argue that Tamil is a classical language, 
and demanded that the University of Madras should not call Tamil a 
vernacular language. 

a. all the above   b. 1 only   b. 1, 2 only   
d. 3 only   e. Answer not known 
rhpahd $w;iwj; Njh;e;njL:  
1. F.W vy;yp];> njd;dpe;jpa nkhopfs; jdpg;gl;l nkhopf;FLk;gj;ij rhh;e;jit> 

mit ,e;Njh – Mhpaf;FLk;g nkhopfNshL njhlh;gpy;yhjit vDk; 
Nfhl;ghl;il cUthf;fpdhh;.  
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2. uhgh;l; fhy;Lnty;> jpuhtpl nkhopfSf;fpilapy; neUf;fkhd xg;Gik 
,Ug;gijAk; mg;gbahd xg;Gik rk];fpUjj;Jld; ,y;iy vd;gijAk; 
epWtpdhh;.  

3. jkpo;nkhop xU nrk;nkhop vd;Wk;> vdNt nrd;idg; gy;fiyf;fofk; jkpio 
xU tl;lhunkhopnad miof;ff; $lhnjd Kjd; Kjyhf $wpath; 
kiwkiyabfs;.  

a. midj;Jk; rhp  b. 1 kl;Lk;    c. 1, 2 kl;Lk;   
d. 3 kl;Lk;    e. tpilnjhpatpy;iy 
 

40. "cUTfz;L vs;shik Ntz;Lk;" vd;w $w;wpw;F ts;Sth; fhl;Lk; ctik ahJ?  
a. nghpaNjh;  b. rpwpaNjh;    c. mr;rhzp  
d. rf;fuk;  e. tpil njhpatpy;iy  
What is the example given by Valluvar for uruvukaNdu eLLaamai vaeNdum? 
a. big chariot  b. small chariot   c. linch pin 
d. wheel  e. answer not known 

 
41. In which year, Tamil book, Thambiran Vanakkam, was published from Goa? 

a. 1578  b. 1857   c. 1587    
d. 1758  e. Answer not known 
ve;j Mz;by; jg;gpuhd; tzf;fk; vDk; jkpo; Gj;jfk; Nfhthtpy; ntspaplg;gl;lJ.  
a. 1578  b. 1857   c. 1587    
d. 1758  e. tpilnjhpatpy;iy 

 
42. Who gave prominence to Tamil music and Published books on the history of 

Tamil music? 
a. C.W. Damotharanar  b. Thiru vi.ka   c. U.V. Swaminathar  
d. Abraham Pandither  e. Answer not known 
jkpo; ,irf;Fr; rpwg;Gg; nra;jNjhL jkpo; ,ir tuyhW Fwpj;J E}y;fisAk; 
ntspapl;lth; 
a. rp.it. jhNkhjudhh; b. jpU.tp.f.   c. c.Nt.rhkpehjh; 
d. Mgpufhk; gz;bjh;  e. tpilnjhpatpy;iy 

 
43. Who founded a hostel, the Dravidian Home, at Triplicane (Madras) in July 1916? 

a. Sir Pitti Theyagarayar   b. T.M. Nair   c. Dr. C. Natesanar  
d. Maraimalai Adigal   e. Answer not known 
jpUty;ypf;Nfzpapy; [Piy 1916 y; jpuhtplh; ,y;yk; vd;w ngahpy; xU jq;Fk; 
tpLjpia epWtpath;. 
a. rh;. gpl;b jpahfuhah;  b. b.vk;. ehah; c. Dr. rp. eNlrdhh;  
d. kiwkiy mbfs;   e. tpilnjhpatpy;iy   

 
44. Choose the correct statements: 

1. On 20 November 1916 around 30 prominent non-Brahmin leaders including 
Dr. C. Natesanar, Sir Pitti Thiyagarayar, T.M. Nair and Alamelu Mangai 
Thayarammal came together to form the South Indian Liberation Federation 
(SILF). 

2. In the meantime, at a meeting held in the Victoria Public Hall the Non-
Brahmin Manifesto was released in December 1916. 
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a. 1, 2   b. 1, 2 wrong    c. 1 wrong   
d. 2 wrong  e. Answer not known 
 
rhpahd $w;iwj; Njh;e;njL:  
1. 1916 etk;gh; 20 ,y; lhf;lh eNlrdhh;> rh; gpl;b jpahfuhah;> b.vk;.ehah; kw;Wk; 

myNkYkq;if jhahuk;khs; cl;gl 30 Kf;fpa gpuhkzh; my;yhj jiyth;fs; 
njd;dpe;jpa ey chpikr; mq;fj;ij cUthf;f xUq;fpize;jdh;.  

2. 1916 brk;ghpy;> tpf;Nlhhpah nghJ muq;fpy; eilngw;w $l;lnkhd;wpy; 
gpuhkzuy;y;yhNjhh; mwpf;if ntspapl;lg;gl;lJ.  

a. 1, 2 rhp  b. 1, 2 jtW     c. 1 jtW    
d. 2 jtW   e. tpilnjhpatpy;iy 
 

45. If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in how many 
days? 
a. 1 day  b. 3 days    c. 7 days    
d. 14 days  e. Answer not known 
7 rpye;jpfs; 7 ehl;fspy; 7 tiyfis cUthf;fpdhy;> 1 rpye;jp vj;jid 
ehl;fspy; 1 tiyia cUthf;Fk; 
a. 1 ehs;   b. 3 ehl;fs;    c. 7 ehl;fs;   
d. 14 ehl;fs;  e. tpil njhpatpy;iy 

 

46. The common ratio of the G.P. 
m-n m m+na ,a ,a  

a. 
ma   b. 

-ma   c. na   d.
-na   e. Answer not known 

m-n m m+na ,a ,a vd;w ngUf;Fj; njhlh;thpirapd; nghJ tpfpjk; 

a. 
ma   b. 

-ma   c. na   d.
-na   e. tpil njhpatpy;iy 

 

47. Simplify:
1 2 5 1 1

1 8 5
3 3 7 2 4

       
            

      
 

a. 
41

5
60

   b. 
41

3
60

    c. 
21

5
60

     

d. 
41

5
60

  e. Answer not known 

RUf;Ff:

 

1 2 5 1 1
1 8 5

3 3 7 2 4

       
            

      
 

a. 
41

5
60

   b. 
41

3
60

    c. 
21

5
60

     

d. 
41

5
60

  e. tpil njhpatpy;iy 

 
48. J}J ciug;gtDila jFjpfs; ahit?  

a. jd; Rw;wj;jhh; khl;L md;Gilatdhjy;  
b. jFjpahd Fbgpwg;G cilatdhjy;  
c. murh; tpUk;Gk; rpwe;j gz;G cilatdhjy;  
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d. ,it midj;Jk;  
e. tpil njhpatpy;iy  
What are the qualification of an ambassador? 
a. affection for his relations   
b. a fitting birth 
c. the possession of attributes pleasing to royalty. 
d. All of these 
e. Answer not known 

 

49. If 
2 1 2 1

and ,
2 1 2 1

a b
 

 
 

then 2 2a b  is equivalent to: 

a. 38  b. 39  c. 34  d. 32  e. Answer not known 

2 1 2 1
, ,

2 1 2 1
a b

 
 

 
vdpy; 2 2a b  - d; kjpg;Gfhz;f 

a. 38  b. 39  c. 34  d. 32  e. tpil njhpatpy;iy 
 

50. The 4th term of a geometric sequence is 
2

3
 and the seventh term is 

16

81
. Find the 

first term of the geometric sequence. 

a. 3  b. 
8

27
  c. 

9

4
  d. 16  e. Answer not known 

xU ngUf;Fj; njhlh;thpirapd; ehd;fhtJ cWg;G 
2

3
 kw;Wk; mjd; VohtJ 

cWg;G 
16

81
 vdpy;> mg;ngUf;Fj; njhlh;thpirapd; Kjy; cWg;igf; fhz;f 

a. 3  b. 
8

27
  c. 

9

4
  d. 16  e. tpil njhpatpy;iy 

 
51. What was the major things in the self-Respect movement?  

a. Rational   b. Revolt   c. Religion    
d. Communism  e. Answer not known 
Rakhpahij ,af;fg; nrhw;nghopTfspd; ikag; nghUshf ,Ue;jJ  
a. gFj;jwpT   b. Gul;rp    c. ,dk;   
d. fk;A+dprk;  e. tpilnjhpatpy;iy 

 
52. Match the following: 

A. Communal government orders   1. 1921 
B. Staff Selection Board     2. 1924 
C. Public Service commission    3. 1929  
D. Hindhu Religions Endowment Act   4. 1926 

  A B C D 
 a. 4 3 2 1 
 b. 2 4 3 1  
 c. 1 2 3 4 
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 d. 2 1 4 3 
e. Answer not known 
nghUj;Jf:  
A. tFg;ghhp murhizak;     1. 1921 
B. gzpahsh; Njh;T thhpak;    2. 1924 
C. nghJg; gzpahsh; Njh;thizak;   3. 1929 
D. ,e;J rka mwepiyar; rl;lk;   4. 1926 

  A B C D 
 a. 4 3 2 1 
 b. 2 4 3 1  
 c. 1 2 3 4 
 d. 2 1 4 3 

e. tpilnjhpatpy;iy 
 

53. In 1936, who got Dr. B.R. Ambedkar's Annihilation of caste translated into Tamil 
immediately after it was written  
a. Rajaji    b. Thiru Vi.Ka  c. Periyar    
d. Subramaniyanar    e. Answer not known 
B.R mk;Ngj;fhh; vOjpa rhjp xopg;G (Annihilation of caste) vDk; E}iy> me;E}y; 
ntspte;jTld; 1936 y; jkpopy; nkhopngah;j;jth; ahh;? 
a. uh[h[p   b. jpU.tp.f.   c. nghpahh;    
d. Rg;gpukzpadhh;   e. tpilnjhpatpy;iy 

 
54. India's first organised Trade union (1918)  

a. Bombay Labour union   b. Calcutta Labour union  
c. Madras Labour union   d. Madurai labour Union 
e. Answer not known 
,e;jpahtpd; Kjy; njhopy;rq;fk; (1918)  
a. gk;gha; njhopw;rq;fk;   b. fy;fj;jh njhopw;rq;fk;  
c. nrd;id njhopw;rq;fk;  d. kJiu njhopw;rq;fk; 
e. tpilnjhpatpy;iy 

 
55. Match the following 

Marriage Assistance Schemes  Beneficiary 
A. Moovalur Ramamirtham  1. Daughter of Poor Widows 
B. Dr. Dharmambal    2. Orphan Girls 
C. Annai Teresa    3. Widows Remarriage 
D. E.V.R. Maniammai   4. Daughter of Poor Parents 
 A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 4 1 2 3 
d.  3 4 2 1 
e. Answer not known 
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gpd;tUtdtw;iwg; nghUj;Jf. 
jpUkz epjpAjtpj; jpl;lk;   gadhsh; 
A. %tY}h; ,uhkhkph;jk;   1. Vio ifk;ngz; kfs; 
B. Dr. jh;khk;ghs;    2. Mjutw;w ngz;fs; 
C. md;id njurh    3. tpjit kWkzk; 
D. E.V.R. kzpak;ik   4. Viog; ngw;Nwhh;fspd; kfs; 

A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 4 1 2 3 
d.  3 4 2 1 
e. tpilnjhpatpy;iy 

 
56. J}J ciug;gth;f;F ,d;wpaikahj gz;Gfs; ahit?  

1. mwpT   2. md;G   3. Muha;e;J nrhy;fpd;w nrhy;td;ik  
4. faik   5. mitaQ;rhik  
a. 1, 3, 4   b. 1, 4, 5    c. 1, 2, 3  
d. 1, 2, 3, 4, 5   e. tpil njhpatpy;iy 
What are the three essential characteristics of an ambassador? 
1. knowledge  2. Love   3. Power of speech   
4. Baseness  5. not to dread the council 
a. 1, 3, 4   b. 1, 4, 5     c. 1, 2, 3  
d. 1, 2, 3, 4, 5   e. Answer not known 

 
57. Which of the following scheme provides basic Infrastructure facilities in rural 

Areas? 
a. THAI Thittam   b. Anna Marumalarchi Thittam 
c. Namakku Name Thittam d. both a and b 
e. Answer not known 
gpd;tUk; ve;j jpUkz epjpAjtpj; jpl;lj;jpw;F fy;tpj; jFjp Njitg;gLfpwJ? 
a. jha; jpl;lk;    b. mz;zh kWkyh;r;rp jpl;lk; 
c. ekf;F ehNk jpl;lk;  d. (a) kw;Wk; (b) 
e. tpilnjhpatpy;iy 

 
58. Which scheme provides community Infrastructure facilities to both Urban and 

Rural Areas? 
a. THAI Thittam   b. Anna Marumalarchi Thittam  
c. Namaku Naame Thittam d. both a and b 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j jpl;lk; efh;g;Gwk; kw;Wk; fpuhkg;Gw; gFjpfSf;F 
mbg;gilf; fl;;likg;G trjpfis nra;J jUfpwJ? 
a. jha; jpl;lk;    b. mz;zh kWkyh;r;rp jpl;lk; 
c. ekf;F ehNk jpl;lk;  d. (a) kw;Wk; (b) 
e. tpilnjhpatpy;iy 
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59. Namakku Naame Scheme was launched in ____ 
a. 1996-97  b. 1997-98    c. 1998-99   
d. 2006-07  e. Answer not known 
ekf;F ehNk jpl;lk; njhlq;fg;gl;l Mz;L ____> 
a. 1996-97  b. 1997-98    c. 1998-99   
d. 2006-07  e. tpilnjhpatpy;iy 

 
60. Which of the following scheme is with the objective of upgrading, strengthening 

and maintenance of panchayat union and village panchayat roads? 
a. Tamil Nadu Rural Road Improvement Scheme (TNRRIS) 
b. Chief Minister Road Development Programme 
c. Bharatmala Pariyojana 
d. None of the above 
e. Answer not known 
fPo;f;fz;ltw;wpy; vj;jpl;lk;> gQ;rhaj;J A+dpad; kw;Wk; fpuhk gQ;rhaj;J 
rhiyfis Kd;Ndw;WtJ> gyg;gLj;JtJ kw;Wk; guhkhpg;gij Fwpf;Nfhshff; 
nfhz;lJ? 
a. jkpo;ehL Cuf rhiy Nkk;ghl;Lj; jpl;lk; (TNRRIS) 
b. Kjyikr;rh; rhiy Nkk;ghl;Lj; jpl;lk;  
c. ghuj;khyh ghpNah[dh 
d. Nkw;fz;l vJTk; ,y;iy 
e. tpilnjhpatpy;iy 

 

61. Pudhu Vazhvu project is funded by ____ 
a. World Bank b. Asian Development Bank  c. AIIB  
d. JICA  e. Answer not known 
GJ tho;T jpl;lj;jpw;F epjpAjtp mspg;gJ 
a. cyf tq;fp b. Mrpa tsh;r;rp tq;fp   c. AIIB  
d. JICA  e. tpilnjhpatpy;iy 

 

62. Choose incorrect statements regarding Pradhan Mantri Gram Sadhak Yojana 
(PMGSY) 
1. Scheme was launched in 2000 to provide all weather road access. 
2. Initially PMGSY is 100% centrally sponsored 
3. From 2015-16, Funding pattern has been revised to 60% central share and 

40% state share except Himalayan and northestern states.  
a. 1, 2   b. 1, 3     c. 2, 3    
d. None of these e. Answer not known 
gpujk ke;jphp fpuhk rhiyj; jpl;lk; (PMGSY) Fwpj;j jtwhd $w;Wfisf; 
fz;lwpf. 
1. ,j;jpl;lk;> midj;J gUt fhyq;fSf;Fk; Vw;Gila ,izg;Gr; rhiy 

trjpia toq;f 2000 Mk; Mz;L njhlq;fg;gl;lJ. 
2. njhlf;fj;jpy; ,j;jpl;lk; 100% kj;jpa murpd; epjpAjtpahy; 

nray;gLj;jg;gl;lJ. 
3. 2015-16 Mk; Mz;L Kjy;> mJ kWtiuaiw nra;ag;gl;L ,khya kw;Wk; 

tlfpof;F khepyq;fs; jtpu kw;w khepyq;fspy; 60% kj;jpa muR epjp kw;Wk; 
40% khepy muR epjpahy; nray;gLj;jg;gLfpwJ.  
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a. 1, 2   b. 1, 3     c. 2, 3    
d. vJTkpy;iy e. tpilnjhpatpy;iy 

63. Emergency Ambulance Service, (108 helpline) is part of ____ 
a. TNHSP  b. TNHSRP   c. both a and b   
d. CMHIS  e. Answer not known 
mtrufhy Ch;jp Nrit (108 cjtpvz;) vjd; xU mq;fkhFk;? 
a. TNHSP  b. TNHSRP   c. (a) kw;Wk; (b)   
d. CMHIS  e. tpilnjhpatpy;iy 

 
64. vtw;wpd; nghUj;jk; cilatd; J}J ciuf;Fk; njhopYf;F nry;yyhk;?  

a. ,aw;f;if mwpT    b. tpUk;gj;jf;f Njhw;wk;   
c. Muha;r;rp cilaf; fy;tp   d. ,it midj;Jk;  
e. tpilnjhpatpy;iy  
He may go on a mission (to foreign rulers) who has combined in him all these 
three: 
a. natural sense   b. an attractive bearing 
c. well-tried learning  d. All of these 
e. Answer not known 
 

65. Tamil Nadu state Mental Health Authority was formed in ____ 
a. 1992 b. 1994 c. 1996   d. 1998 e. Answer not known 
jkpo;ehL khepy kdey Mizak; vg;NghJ cUthf;fg;gl;lJ? 
a. 1992 b. 1994 c. 1996  d. 1998 e. tpilnjhpatpy;iy 

 
66. The district with more Gender inequality in Tamil Nadu is _____. 

a. Nilgiris  b. Ariyalur   c. Chennai   
d. Sivagangai  e. Answer not known 
jkpo;ehl;bd; ve;j khtl;lk; mjpfgl;r ghypd rkkpd;ikiaf; nfhz;Ls;sJ? 
a. ePyfphp  b. mhpaY}h;   c. nrd;id   
d. rptfq;if  e. tpilnjhpatpy;iy 

 
67. IMR and Higher order birth rate were indicators of _______. 

a. HDI  b. MDPI    c. GII    
d. CDI  e. Answer not known 
rpR kuz tpfpjk; kw;Wk; cah; gpwg;G thpir vjd; FwpaPLfshFk;. 
a. HDI  b. MDPI    c. GII    
d. CDI  e. tpilnjhpatpy;iy 

 
68. Find correctly matched pairs. 

1. Kancheepuram - Silk Sarees 
2. Dindigul  - Leather 
3. Erode  - Turmeric 
4. Namakkal  - Poultry 
5. Tiruchirapalli -  Boiler & Turbine 
6. Karur  - Bus body building 
a. 1, 3 and 4 only b. 1, 3 and 5 only  c. 2, 4 and 6 only   
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d. All the above e. Answer not known 
 
rhpahf nghUe;jpAs;s ,iziaf; fhz;f 
fhQ;rpGuk;  - gl;Lr;Nriy 
jpz;Lf;fy;  - Njhy; 
<NuhL   - kQ;rs; 
ehkf;fy;  - Nfhop 
jpUr;rp   - nfhjpfyd; kw;Wk; tpirahop 
f&h;   - NgUe;J Nkw;Gw fl;likg;G 
a. 1> 3 kw;Wk; 4 kl;Lk;  b. 1> 3 kw;Wk; 5 kl;Lk; 
c. 2> 4 kw;Wk; 6 kl;Lk;  d. ,it midj;Jk; 
e. tpilnjhpatpy;iy 

 
69. Consider the following statements and choose the correct statements 

1. Major leather producing clusters are around Vellore, Ranipet, Vaniyambadi, 
Ambur 

2. Vellore is top exporter of finished leather goods in country. 
3. Tamilnadu has 60% of all leather tanning capacity in country. 
a. 1, 2 and 3 only  b. 1 and 2 only  c. 2 and 3 only  
d. All of these  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
1. mjpf Njhy; cw;gj;jp njhopyfq;fs; NtY}h;> uhzpg;Ngl;il> thzpak;ghb> 

Mk;g+h; Mfpatw;iw Rw;wpAs;sd 
2. Njhy; rhh;e;j nghUl;fs; Vw;Wkjpapy; NtY}h; khtl;lk; ehl;bNyNa Kjd;ik 

,lkhfj; jpfo;fpd;wJ. 
3. Njhy; nghUl;fs; cw;gj;jpj; jpwdpy; jkpo;ehL ehl;bd; 60% If; 

nfhz;Ls;sJ. 
a. 1> 2 kw;Wk; 3 kl;Lk; b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk;  
d. midj;Jk; rhp  e. tpilnjhpatpy;iy 

 
70. Ramesh can do a piece of work in 20 days and Mohan in 25 days.  They work 

together for 5 days and Mohan goes away.  In how many days will Ramesh 
finish the work? 
a. 7 days              b. 11 days             c.  13 days             
d.   10 days  e. Answer not known 
xU Fwpg;gpl;l Ntiyia uNk~hy; 20 ehl;fspYk;> Nkhfdhy; 25 ehl;fspYk; 
nra;a KbAk;.  mth;fs; ,UtUk; Nrh;e;J 5 ehl;fs; Ntiy nra;fpwhh;fs;.  
gpd;dh; Nkhfd; mq;fpUe;J ntspNawp tpLfpwhh;.  me;j Ntiyiar; nra;J 
Kbf;f uNk~; vj;jid ehl;fis vLj;Jf; nfhs;thh;?  
a. 7 ehl;fs;         b. 11 ehl;fs;            c.  13 ehl;fs;          
d.   10 ehl;fs;  e. tpil njhpatpy;iy 

 
71. 25 women can finish a work in 15 days. 15 men can complete the same work in 

10 days. What is the ratio between the capacity of a woman and a man? 
a.  1 : 5                  b.  3 : 2                   c. 5 : 2                 
d. 2 : 5   e. Answer not known 
25 ngz;fs; xU Ntiyia 15 ehl;fspy; nra;J Kbf;f KbAk;.  mNj 
Ntiyia 15 Mz;fs; 10 ehl;fspy; nra;J Kbf;f KbAk;.  ngz;fs; kw;Wk; 
Mz;fspd; Ntiy nra;Ak; jpwDf;F ,ilNaahd tpfpjk; vd;d? 
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a.  1 : 5                  b.  3 : 2                   c. 5 : 2                  
d. 2 : 5   e. tpil njhpatpy;iy 

72. J}J ciug;gDila jFjp ahJ?  
a. J}a xOf;fk; cilatdhjy;  
b. Jiz cilatdhjy;  
c. JzpT cilatdhjy;  
d. ,it midj;Jk;  
e. tpil njhpatpy;iy  
What are the qualification of an ambassador? 
a. faithfully delivers his (sovereign's) message are purity 
b. the support of ministers 
c. boldness 
d. all of these 
e. answer not known 

 

73. Simplify:
16.12 16.12 16.12 13.88 13.88 13.88

16.12 16.12 16.12 13.88 13.88 13.88

    

    
 

a. 16.12 b. 2.24  c. 30  d. 20  e. Answer not known 

RUf;Ff: 
16.12 16.12 16.12 13.88 13.88 13.88

16.12 16.12 16.12 13.88 13.88 13.88

    

    
 

a. 16.12 b. 2.24  c. 30  d. 20  e. tpil njhpatpy;iy 
 
74. The value of (13 + 23 + 33 +…+ 153) – (1 + 2 + 3….+ 15) is 

a. 14400  b. 14200   c. 14280   
d. 14520  e. Answer not known 
(13 + 23 + 33 +…+ 153) – (1 + 2 + 3….+ 15) ,d; kjpg;G fhz;f 
a. 14400  b. 14200   c. 14280   
d. 14520  e. tpil njhpatpy;iy 

 
75. A and B together can do a piece of work in 16 days and A alone can do it in 48 

days. How long will B done take to complete the work? 
a. 24 days              b. 48 days             c.  16 days               
d. 8 days  e. Answer not known 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; Kbg;gh;. A 
jdpNa me;j Ntiyia 48 ehl;fspy; Kbg;gh; vdpy;> B jdpNa me;j Ntiyia 
vj;jid ehl;fspy; Kbg;ghh;? 
a. 24 ehl;fs;  b. 48 ehl;fs;   c.  16 ehl;fs;              
d. 8 ehl;fs;  e. tpil njhpatpy;iy 

 

76. Solve 14 x 627   31089 (?) + 141 

a. 5 5  b. (125)3 c. 25  d. 5  e. Answer not known 

jPh;f;f : 14 ×  627 1089  = (?)3 + 141 
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a. 5 5  b. (125)3 c. 25  d. 5  e. tpil njhpatpy;iy 

 
77. If 20 men can build a wall 112 meters long in 6 days. What length of a similar 

wall can be built 25 men in 3 days? 
a. 40 meters  b. 50 meters   c. 60 meters   
d. 70 meters  e. Answer not known 
20 Ml;fs; 6 ehl;fspy; 112 kP ePsKs;s Rtiu fl;b Kbj;jhy; 25 Ml;fs; 3 
ehl;fspy; vt;tsT ePsr; Rtiuf; fl;b Kbg;ghh;?  
a. 40 kPl;lh;  b. 50 kPl;lh;   c. 60  kPl;lh;   
d. 70  kPl;lh;  e. tpil njhpatpy;iy 

 

78. Priya earned ₹15,000 in the first month. Thereafter her salary increased by ₹1500 

per year. Her expenses are ₹13,000 during the first year and the expenses 

increases by ₹900 per year. How long will it take for her to save ₹20,000 per 
month.  
a. 30 years  b. 29 years    c. 32 years   
d. 31 years  e. Answer not known 
gphpah jdJ Kjy; khj tUkhdkhf &.15>000 <l;Lfpwhh;. mjd; gpwF xt;Nthh; 
Mz;Lk; mtuJ khj tUkhdk; &.1500 cah;fpwJ. mtSila Kjy; khj nryT 
&.13>000 kw;Wk; mtsJ khjhe;jpur; nryT xt;Nthh; Mz;Lk; &.900 cah;fpwJ. 
gphpahtpd; khjhe;jpu Nrkpg;G &.20>000 mila vt;tsT fhyk; MFk;? 
a. 30 Mz;Lfs; b. 29 Mz;Lfs;   c. 32 Mz;Lfs;  
d. 31 Mz;lfs; e. tpil njhpatpy;iy 

 
79. A can finish a job in 20 days and B can complete it in 30 days. They work 

together and finish the job. If Rs. 600 is paid as wages, find the share of each. 
a. A=Rs. 360, B= Rs. 240  b. A=Rs. 480, B= Rs. 120  
c. A=Rs. 400, B= Rs. 200  d. A=Rs. 240, B= Rs. 360 
e. Answer not known 
A xU Ntiyia 20 ehl;fspYk;> mNj Ntiyia B 30 ehl;fspYk; Kbg;gh;. 
,UtUk; Nrh;e;J Ntiy nra;J> mt;Ntiyia Kbj;J 600I jq;fs; tUthahfg; 
ngw;wdh; vdpy; mth;fs; xt;nthUtUk; ngWk; njhif vt;tsT? 
a. A=Rs. 360, B= Rs. 240  b. A=Rs. 480, B= Rs. 120 
c. A=Rs. 400, B= Rs. 200  d. A=Rs. 240, B= Rs. 360 
e. tpil njhpatpy;iy 

 
80. "jdf;F mopNt jUtjhf ,Ue;jhYk;> mjw;fhf mQ;rp tpl;Ltplhky;> jd; 

murDf;F ed;ik cz;lhFkhW nra;fpd;wtNd J}jd;" vd;gij tpsf;Fk; Fws; 
ahJ?  
a. ,Wjp gag;gpDk; vQ;rhJ ,iwtw;F  

cWjp gag;gjhk; J}J  
b. tpLkhw;wk; Nte;jh;f;F ciug;ghd; tLkhw;wk;  

tha;Nrhuh td;f ztd;  
c. fw;Wf;fz; mQ;rhd; nryr;nrhy;ypf; fhyj;jhy;  

jf;fJ mwptjhk; J}J  
d. fldwpe;J fhyq; fUjp ,ldwpe;J  

vz;zp ciug;ghd; jiy.  
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e. tpil njhpatpy;iy  
 
 
Choose the apt Kural for the following meaning 
He is the ambassador who fearlessly seeks his sovereign's good though it should 
cost him his life (to deliver his message). 
a. Death to the faithful one his embassy may bring; 

To envoy gains assured advantage for his king. 
b. His faltering lips must utter no unworthy thing, 

Who stands, with steady eye, to speak the mandates of his king. 
c. An envoy meet is he, well-learned, of fearless eye 

Who speaks right home, prepared for each emergency. 
d. He is the best who knows what's due, the time considered well, 

The place selects, then ponders long ere he his errand tell. 
e. Answer not known 

 

81. Find the value of 
1 1 1 1

1 1 1 ....... 1
3 4 5 100

     
        

     
 

a. 
1

100
 b. 

1

25
  c. 

1

50
  d. 100  e. Answer not known 

 

1 1 1 1
1 1 1 ....... 1

3 4 5 100

     
        

     
-d; kjpg;igf; fhz;. 

 a. 
1

100
 b. 

1

25
  c. 

1

50
  d. 100  e. tpil njhpatpy;iy 

 
82. Match agencies that promote industrialization in state with their year of 

formation. 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 5 4 3 1 2 
d. 1 2 4 3 5 
e. Answer not known 
njhopy;kakhf;fis Cf;Ftpf;Fk; Kfik kw;Wk; mtw;iw cUthf;fpa Mz;ilg; 
nghUj;Jf 
A. SIPCOT   1. 1949 
B. TANSIDCO  2. 1965 
C. TIDCO   3. 1965 
D. TIIC   4. 1970 
E. TANSI   5. 1971 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 5 4 3 1 2 
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d. 1 2 4 3 5 
e. tpilnjhpatpy;iy 

 
83. Choose the correct statements about Ramalinga adigal. 

i. He popularized Jeevakarunyam – to show compassion on all living 
beings. 

ii. He established Samarasa Suddha Sanmarga Sangam in 1865. 
iii. He established Sathya Gnana Sabha at Vadalur. 
iv. He wrote Manu murai kanda vaasagam. 
v. His works were called „Marutpa‟ 
a. i, iii only   b. ii and iv only   c. i, ii, iii, iv only  
d. All of these  e. Answer not known 
,uhkypq;f mbfs; Fwpj;j rhpahd $w;Wfis Njh;f 
i. vy;yh caph;fsplKk; ,uf;fk; fhl;l mth; [PtfhUz;aj;ij 

gpugyg;gLj;jpdhh; 
ii. 1865,y; rkur Rj;j rd;khh;f;f rq;fj;ij Njhw;Wtpj;jhh; 
iii. tlY}hpy; rj;aQhd rigia Njhw;Wtpj;jhh; 
iv. kDKiw fz;l thrfj;ij vOjpdhh; 
v. ,tuJ gilg;Gfs; “kUl;gh” vd miof;fg;gl;lJ 
a. i, iii kl;Lk;   b. ii kw;Wk; iv kl;Lk;  c. i, ii, iii, iv kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpilnjhpatpy;iy 

 
84. Consider the following statements and choose correct answer 

1. Thirukkural was earliest Tamil work to be printed in 1578. 
2. R. Caldwell was first to formulate idea that South Indian languages belonged 

to a separate family of languages different from Indo Aryan language. 
a. 1 only   b. 2 only   c. Both 1 and 2  
d. None of above  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
1. jpUf;Fws; 1578y; mr;rplg;gl;l Muk;gfhy jkpo; gilg;ghFk; 
2. R. fhy;Lnty; Kjd; Kjypy; njd;dpe;jpa nkhopfs;> ,e;Njh Mhpa 

nkhopapypUe;J NtWgl;l nkhopfs;> ,it jdpf;FLk;gj;ij Nrh;e;jit vd;w 
fUj;ij tFj;jhh; 

a. 1 kl;Lk;   b. 2 kl;Lk;   c. ,uz;Lk;   
d. ,uz;Lkpy;iy  e. tpilnjhpatpy;iy 

 
85. Communal G.O. of Justice party was passed on 

a. 16 July 1921  b. 16 September 1922  c. 15 August 1922 
d. 26 January 1922  e. Answer not known 
tFg;Gthj murhizia ePjpf;fl;rp ,aw;wpa jpdk; ______ 
a. 16 [{iy 1921  b. 16 nrg;lk;gh; 1922   c. 15 Mf];l; 1922 
d. 26 [dthp 1922  e. tpilnjhpatpy;iy 

 
86. Why Periyar Quit Congress in 1925? 

a. Congress was not able to address caste inequality practiced by its members. 
b. Cheramadevi Gurukullam incident. 
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c. Non passing of resolution for reservation of Non-Brahmins in legislative 
council 

d. all the above 
e. Answer not known 
 
1925,y;> Vd; nghpahh; fhq;fpurpy; ,Ue;J ntspNawpdhh;? 
a. fhq;fpurpy;> mjd; cWg;gpdh;fs; njhlh;e;J filgpbf;Fk; rhjpg;ghFghl;il 

vjph;f;f Kbatpy;iy 
b. Nrud;khNjtp FUFy> rk;gtk; 
c. rl;lrig Nghd;w gpujpepjpj;Jt mikg;Gfspy; gpuhkzh; my;yhjth;fSf;F ,l 

xJf;fPL toq;fg;gltpy;iy 
d. Nkw;fz;l midj;Jk; 
e. tpilnjhpatpy;iy 

 
87. Consider the following statements and choose correct answer 

Assertion (A): Periyar opposed nation & Nationalism 
Reason (R): Patriotic feeling was misused by capitalist class. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nghpahh; Njrj;ijAk;> Njrpathjj;ijAk; vjph;j;jhh; 
fhuzk; (R): Njrgf;jp czh;T Kjyhspj;Jt th;f;fj;jhy; jtwhfg; 
gad;gLj;jg;gl;lJ 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
e. tpilnjhpatpy;iy 

 
88. kd;diur; Nrh;e;njhOjy; mjpfhuk; vz; __________ 

a. 68  b. 69  c. 70  d. 71  e. tpil njhpatpy;iy 
Chapter of number of Conduct in the Presence of the King is _________ 
a. 68  b. 69  c. 70  d. 71  e. answer not known 

 
89. Bharathiyar started giving voice to women‟s rights after meeting 

a. Sarojini Naidu  b. Annie Besant  c. Meenambal 
d. Sister Nivedita  e. Answer not known 
ahiu re;jpj;j gpd;dh; ghujpahh; ngz;fs; chpikfSf;F Fuy; nfhLf;fj; 
njhlq;fpdhh;? 
a. rNuh[pdp ehAL  b. md;dpngrd;l;  c. kPdhk;ghs;   
d. rNfhjhp epNtjpjh e. tpilnjhpatpy;iy 

 
90. Match following  
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A. Aathichoodi & Konraiventhan   1. Highest court of Justice 
B. Moothurai & Nalvazhi   2. Young children 
C. Arathupal     3. Older Children 
D. Porutpal     4. Ethics 
E. Sabhai or Mandram   5. Political philosopher 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c.  2 3 4 5 1 
d. 3 2 4 5 1 
e. Answer not known 
nghUj;Jf: 
A. Mj;jpr;#b & nfhd;iwNte;jd;  1. ePjpapd; cr;r mikg;G 
B. %Jiu & ey;top    2. ,sk; Foe;ijfs; 
C. mwj;Jg;ghy;    3. tajhd Foe;ijfs; 
D. nghUl;ghy;     4. mwnewp 
E. rig my;yJ kd;wk;   5. murpay; jj;Jt Qhdp 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c.  2 3 4 5 1 
d. 3 2 4 5 1 
e. tpilnjhpatpy;iy 

 
91. Where was first samathuvapuram established 

a. Melakkotai, Madurai  b. Thagattur, Nagapattinam 
c. Kadambathur, Thiruvallur d. Malligaipatrri, Trichi 
e. Answer not known 
vq;F Kjd;Kjypy; rkj;JtGuk; cUthf;fg;gl;lJ? 
a. Nkyf;Nfhl;il> kJiu  b. jfl;̂ h;> ehfg;gl;bdk; 
c. flk;gj;J}h;> jpUts;@h;  d. ky;ypifgw;wp> jpUr;rp 
e. tpilnjhpatpy;iy 
 

92. Who said „humans respected on basis of caste to which he belongs to is barbarian 
and anti-human thinking? 
a. Dr.B.R.Ambedkar  b.  E.V.R. Periyar  c. Jyotibaphule 
d. A.R.Desai   e. Answer not known 
“rhjpapd; mbg;gilapy; kdpjh;fs; kjpf;fg;gLtJ fhl;L kpuhz;bjdk; kw;Wk; 
kdpj vjph;g;G rpe;jid” vd;W $wpath; ahh;? 
a. Dr.gp.Mh;. mk;Ngj;fh; b. <.Nt.uh. nghpahh;  c. N[hjpghg+Ny  
d. V.Mh;.Njrha;  e. tpilnjhpatpy;iy 

 

93. Consider the following 
Assertion (A): E.V.R Periyar started self respect movement 
Reason (R): Self Respect movement is aimed at achieving a society where Non-
Brahmin castes have equal human rights. 
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a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): <.nt.uh nghpahh; Rakhpahij ,af;fj;ij njhlq;fpdhh;. 
fhuzk; (R): Rakhpahij ,af;fk; gpuhkzuy;yhjth;fSf;F rkkhd kdpj 
chpikfis nfhz;l xU r%fj;ij miltij Nehf;fkhff; nfhz;Ls;sJ. 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
e. tpilnjhpatpy;iy 

 
94. Who said “laws and Rules are for the people people are not for law and rules? 

a. Mahatma Gandhi  b. E.V.R. Periyar  c. K. Kamaraj  
d. B.R. Ambedkar  e. Answer not known 
“rl;lq;fSk;> tpjpfSk; kf;fSf;fhdit> kf;fs; rl;lk; kw;Wk; tpjpfSf;fhf 
,y;iy” vd;W $wpath; ahh;? 
a. kfhj;kh fhe;jp  b. <.Nt.uh.nghpahh;  c. K. fhkuh[h;   
d. gp.Mh;.mk;Ngj;fh;  e. tpilnjhpatpy;iy 

 
95. Consider statement on E.V.R Periyar correct statement are, 

I. He was against child marriage, Devadasi system. 
II. He emphasised women‟s right to divorce 
III. He worked to ensure women‟s right to property. 
IV. He favoured equal rights in guardianship and adoption. 
V. He said motherhood was a burden to women. 
a. I, II, III and IV only b. I, II and III only  c. I, II, III and V only 
d.  All the above  e. Answer not known 
<.Nt.uh nghpahh; Fwpj;j rhpahd thf;fpaq;fis Njh;T nra;f. 
I. ,th; Foe;ijj;jpUkzk;> Njtjhrp Kiwf;F vjpuhf nray;gl;lhh;. 
II. tpthfuj;J nra;tjw;fhd ngz;fspd; chpikia mth; typAWj;jpdhh;. 
III. ngz;fSf;F nrhj;Jhpik toq;fpl ghLgl;lhh; 
IV. mth; ghJfhg;G kw;Wk; jj;njLg;gpy; rk chpikfis tpUk;gpdhh;. 
V. jha;ik vd;gJ ngz;fSf;F Rik vd;whh;. 
a. I, II, III kw;Wk; IV kl;Lk;  b. I, II kw;Wk; III kl;Lk;   
c. I, II, III kw;Wk; V kl;Lk;  d.  Nkw;fz;l midj;Jk; 
e. tpilnjhpatpy;iy 

 
96. fPo;f;fz;ltw;Ws; rhpahdij Njh;e;njLf;fTk;  

1. gz;G epiwe;j nghpath;Kd; nrtpAl; nrhy;YjiyAk; $br; rphpj;jiyAk; 
jtph;j;J xOf Ntz;Lk;  

2. Ml;rpj;jiyth; tpUk;Gtdtw;iw tpUk;ghjpUj;jy; mtuhy; epiyahd 
Kd;Ndw;wk; ngw;Wj; jUk;  

3. Iaj;Jf;F mg;ghw;gl;L kd;diur; Nrh;e;njhOfy; Ntz;Lk; 
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a. 3 kl;Lk; b. 1, 2   c. 1, 3   d. 1, 2, 3  e. tpil njhpatpy;iy  
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Choose the correct statements 
1. While in the presence of the sovereign, ministers should neither whisper to 

nor smile at others. 
2. For ministers not to cover the things desired by their kings will through the 

kings themselves yield them everlasting wealth. 
3. To follow the king beyond doubt 
a. 3 only b. 1, 2  c. 1, 3  d. 1, 2, 3 e. Answer not known 
 

97. Who found All India Depressed class association in 1928? 
a. Iyothee Thasar  b. Rettaimalai Srinivasan  c. M.C. Rajah 
d. Dharmambal  e. Answer not known 
1928,y; midj;J ,e;jpa jho;j;jg;gl;l th;f;f rq;fj;ij epWtpath; ahh;? 
a. mNahj;jp jhrh;  b. ,ul;ilkiy rPdpthrd;  c. M.C. ,uh[h 
d. jh;khk;ghs;   e. tpilnjhpatpy;iy 

 
98. Consider the following statements and choose correct answer? 

I. Tamil Nadu is one of India‟s richest states since 1994. 
II. Tamil Nadu is among fastest growing states, with growth mainly driven 

by services 
III. In 2013, Tamil Nadu ranked highest in domestic and foreign tourist 

arrivals in the country. 
a. I and II only  b. II and III only  c. I and III only  
d. I, II and III   e. Answer not known 
rhpahd thf;fpaq;fis Nju;T nra;f. 
I. 1994- Kjy; ,e;jpahtpd; gzf;fhu khepyj;jpy; jkpo;ehLk; xd;whFk;. 
II. jkpo;ehL Ntfkhf tsh;e;J tUk; khepyq;fspy; xd;whFk;> Kf;fpakhf 

Nritj;Jiwapdhy; tsh;fpd;wJ. 
III. 2013 Mk; Mz;L fzf;nfLg;gpd;gb> ehl;by; cs;ehl;L kw;Wk; ntspehl;L 

Rw;Wyhg; gazpfs; mjpfk; tUif jUk; khepyk; jkpo;ehL. 
a. I & II kl;Lk;  b. II & III kl;Lk;  c. I & III kl;Lk;  
d. I, II & II    e. tpilnjhpatpy;iy 

 
99. In Tamilnadu Gross Enrollment Ratio is ___ which is highest in country for 

Tertiary education. 
a. 36.9% b. 46.9% c. 56.9% d. 66.9% e. Answer not known 
jkpo;ehL ehl;bNyNa kpf cahpa %d;whk; epiy fy;tpapd; nkhj;j Nrh;f;ifahf 
_______ If; nfhz;Ls;sJ. 
a. 36.9% b. 46.9% c. 56.9% d. 66.9% e. tpilnjhpatpy;iy 

 
100. First Bird Sanctuary established in Tamilnadu in 1977 is 

a. Vettangudib. Pulicat   c. Vedanthangal  
d. Kanjirankulam e. Answer not known 
jkpo;ehl;bd; 1977Mk; Mz;L mikf;fg;gl;l Kjy; gwitfs; ruzhyak; vJ? 
a. Ntl;lq;Fb  b. goNtw;fhL  c. Ntle;jhq;fy;  
d. fQ;rpuq;Fsk; e. tpilnjhpatpy;iy 
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101. Match the following  
A. Presidential assent for 69% reservation    1. 1980 
B. Submission of Mandal commission report     2. 1994 
C. 19% reservation for SC/ST in Tamil Nadu become effective 3. 1916 
D. Non Brahmin Manifesto       4. 1989  
 A B C D  
a. 2 1 4 3  
b. 3 2 1 4 
c. 2 3 1 4  
d. 2 1 3 4  
e. Answer not known 
A. 69% ,lxJf;fPl;bw;F FbauRj;jiyth; xg;Gjy;   1. 1980  
B. kz;ly; FO mwpf;if rkh;g;gpj;jJ      2. 1994 
C. jkpo;ehl;by; SC/STf;F 19% ,lxJf;fPL eilKiwf;F te;jJ 3. 1916 
D. gpuhkzuy;yhNjhh; mwpf;if        4. 1989 
 A B C D  
a. 2 1 4 3  
b. 3 2 1 4 
c. 2 3 1 4  
d. 2 1 3 4 
e. tpilnjhpatpy;iy  

 
102. Match the following 

A. Bhavanisagar dam  1. Tiruppur 
B. Amaravati dam   2. Erode 
C. Sathanur dam   3. Tirunelveli 
D. Manimuthar dam  4. Tiruvannamalai 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf 
A. gthdprhfh; miz  1. jpUg;g+h; 
B. mkuhtjp miz   2. <NuhL 
C. rhj;jD}h; miz   3. jpUney;Ntyp 
D. kzpKj;J}h; miz  4. jpUtz;zhkiy 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 1 2 
e. tpilnjhpatpy;iy 
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103. Two pipes can fill a cistern in 3 hours and 4 hours respectively and a waste pipe 
can empty it in 2 hours.  If all the three pipes are kept open, then the cistern will 
be filled in: 
a. 5 hours  b. 8 hours    c. 10 hours   
d. 12 hours  e. Answer not known 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 3> kw;Wk; 4 kzpNeuj;jpy; 
epug;Gfpd;wJ. kw;nwhU Foha; ePh; epuk;gpa njhl;bia 2 kzpNeuj;jpy; fhyp 
nra;Ak;. njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; xNu rkaj;jpy; jpwe;J  
tplg;gl;lhy;> mj;njhl;b vj;jid kzpNeuj;jpy; epuk;Gk;? 
a. 5 kzp  b. 8 kzp    c. 10 kzp 
d. 12 kzp  e. tpil njhpatpy;iy 
 

104. kd;dh; my;yJ Ml;rpj;jiytiu Nrh;e;njhOfypy; ey;y gz;G vJ?  
1. ve;j kiw nra;jpfisAk; xl;Lf; Nfshky; ,Uj;jy;  
2. kiwnra;jpfis Ml;rpj;jjiytNd ntspg;gLj;jpdhy; Nfl;f  
a. 1 kl;Lk;   b. 2 kl;Lk;    c. ,uz;Lk;  
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
What is the good characteristic in following a king? 
1. When the king is engaged in secret counsel with others, ministers should 

neither over-hear anything whatever nor pry into it with inquisitive 
questions 

2. listen when it is divulged (by the king himself). 
a. 1 only   b. 2 only    c. both   
d. None    e. answer not known 

 
105. In the geometric series 2 + 4 + 8 ….. starting from the first term how many 

consecutive terms are needed to yield the sum 1022? 
a. 7  b.9  c. 11  d. 13  e. Answer not known 
2 + 4 + 8 +… vd;w ngUf;Fj; njhlhpy;> Kjy; cWg;gpypUe;J njhlh;r;rpahf 
vj;jid cWg;Gfisf; $l;bdhy;> $Ljy; 1022 fpilf;Fk;? 
a. 7  b.9  c. 11  d. 13  e. tpil njhpatpy;iy 

 
106. 5 men can complete a work in 2 days, 4 women can complete the same work in 3 

days and 5 boys can do it in 3 days. 1 man, 1 woman and 1 boy, working 
together, can complete the work in: 
a. 6 days   b. 4 days   c. 8 days    
d. 12 days  e. Answer not known 
xU Ntiyia 5 Mz;fs; 2 ehl;fspYk;> 4 ngz;fs; 3 ehl;fspYk;> 5 rpWth;fs; 
3 ehl;fspYk; nra;J Kbf;f KbAk;. 1 Mz;> 1 ngz; kw;Wk; 1 rpWtd; xd;whf 
Ntiy nra;tjd; %yk; vj;jid ehl;fspy; Ntiyia Kbf;f KbAk;. 
a. 6 ehl;fs;   b. 4 ehl;fs;   c. 8 ehl;fs;   
d. 12 ehl;fs;  e. tpil njhpatpy;iy 

 

107. If 
1

5x
x

  then the value of 
3

3

1
x

x
 is 

a. 90  b. 110  c. 120  d. 80  e. Answer not known 
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1
5x

x
  vdpy; 3

3

1
x

x
 apd; kjpg;G 

a. 90  b. 110  c. 120  d. 80  e. tpil njhpatpy;iy 
 
108. Find the sum of 152 + 162 + 172 +…+282 

a. 6699  b. 6966   c. 6996    
d. 6696  e. Answer not known 
$Ljy; fhz;f: 152 + 162 + 172 +…+282 
a. 6699  b. 6966   c. 6996    
d. 6696  e. tpil njhpatpy;iy 

 
109. Match the following 

Helpline  Service 
A. 104   1. Drop back service for infants 
B. 108   2. Ambulance 
C. 102   3. Free access to health information 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 1 3 2 
d. 2 1 3  e. Answer not known 
nghUj;Jf 
cjtp vz;  Nrit 
A. 104   1. rpRf;fSf;fhd Nrit  
B. 108   2. kUj;Jt Ch;jp 
C. 102   3. ,ytr MNuhf;fpa jfty;fs; 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 1 3 2 
d. 2 1 3  e. tpilnjhpatpy;iy 

 
110. What are the dimensions taken to measure the Gender Inequality Index (GII): 

a. Reproductive Health, Empowerment & Labour market 
b. Literacy & knowledge, Reproductive Health & Labour market 
c. Labour market, Employment & Political participation 
d. Employment, Gender wage differentials & Empowerment. 
e. Answer not known 
ghypd rkj;Jtkpd;ik FwpaPl;il mstpl vLf;fg;gl;l gupkhzq;fs;> 
fPo;fz;ltw;wpy; vit? 
a. ,dg;ngUf;f MNuhf;fpak;> mjpfhukspj;jy; kw;Wk; njhopyhsh; re;ij. 
b. fy;tpawpT kw;Wk; mwpT> ,dg;ngUf;f MNuhf;fpak;> njhopyhsu; re;ij. 
c. njhopyhsu; re;ij> Ntiytha;g;G> murpay; gq;Nfw;G  
d. Ntiytha;g;G> ghypd Cjpa NtWghLfs;> mjpfhukspj;jy;  
e. tpil njhpatpy;iy 
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111. 'Ntl;gd nrhy;yp tpidapy; vQ;Qhd;Wk;  
Nfl;bDk; nrhy;yh tply;.  
vd;w Fwspy; tUk; "Ntl;G' vd;w nrhy;ypd; nghUs; vd;d?  
a. gadw;wJ    b. gz;G    c. tpUg;gk;  
d. gop    e. tpil njhpatpy;iy  
vaetpana solli vinaiyila eGnGnaandrum 
kaetpinum sollaa vidal 
In this Kural the Vaetpu means 
a. payanatradhu  b. panbu   c. viruppam 
d. pazhi   e. Answer not known 

 
112. Which of the following about Child Development Index is/are correct? 

i. Probability of surviving until age seven. 
ii. Proportion of children malnourished in the age group of 12-23 months. 
iii. Enrolment in primary to upper primary and upper primary to secondary 

education 
iv. Children never enrolled in school & Juvenile sex ratio. 
a. i, ii, iii  b. ii, iii, iv   c. i, iii, iv   
d. i, ii, iii, iv  e. Answer not known 
gpd;tUtdtw;wpy; Foe;ij tsu;r;rp FwpaPL rupahdJ vit? 
i. VO taJ tiu caph; gpiog;gjw;fhd tha;g;G 
ii. 12 – 23 khj taJf;Fl;gl;l Cl;lr;rj;J FiwghLs;s Foe;ijfspd; 

tpfpjk;. 
iii. Kjd;ik Kjy; Nky;epiy kw;Wk; Nky; Kjd;ik Kjy; ,uz;lhk; epiy 

fy;tp tiu Nru;f;if. 
iv. Foe;ijfs; gs;spapy; NruhkpUj;jy; kw;Wk; rpwhu; ghypd tpfpjk;  
a. i, ii, iii  b. ii, iii, iv   c. i, iii, iv   
d. i, ii, iii, iv  e. tpil njhpatpy;iy 

 

113. The parameters of the Physical Quality Life Index is/are: 
a. Standard of living    b. Infant mortality rate 
c. Life expectancy    d. both b & c 
e. Answer not known 
nra;jpwd; FwpaPl;Nlz; (PQLI) FwpaPLfs; gpd;tUtdtw;wpy; vit: 
a. tho;f;ifj; juk;    b. Foe;ij ,wg;G tpfpjk; 
c. vjpu;ghu;g;G MAl;fhyk;  d. (b) kw;Wk; (c) ,uz;Lk; rup 
e. tpil njhpatpy;iy 

 

114. Which of the following statements about Human Development Index (HDI) 
is/are correct? 
i. HDI was developed by the Pakistani Economist Mahbub ul Haq and 

Indian Economist Amartya Kumar Sen in 2000. 
ii. It was published by the United Nations Development Programme 

(UNDP). 
iii. It is constructed based on Life Expectancy, Education & GDP per capita. 
iv. India has ranked 131 on the Human Development Index 2020, prepared 

by UNDP. 
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a. i, ii, iii, iv  b. ii, iii, iv    c. i, ii, iii   
d. i, iii, iv  e. Answer not known 
gpd;tUtdtw;wpy; vit kdpj Nkk;ghl;Lf; FwpaPL (HDI) gw;wpa rupahdit? 
i. HDI – vd;gij ghfp];jhd; ehl;ilr; rhu;e;j nghUspay; mwpQu; k`G+g; 

cy; `f; (Mahbub Ul Haq) vd;gtUk;> ,e;jpahit rhu;e;j mkh;j;jpa 
Fkhu; nrd; mtu;fSk; 2000,y; Nkk;gLj;jpdu;. 

ii. ,jid If;fpa ehLfs; Kd;Ndw;w jpl;lk; (UNDP) ntspapl;lJ. 
iii. ,J vjpu;ghu;f;fg;gLk; tho;ehs;> fy;tp kw;Wk; nkhj;j cs;ehl;L cw;gj;jp 

mbg;gilapy; fzf;fplg;gLfpwJ 
iv. If;fpa ehLfs; Kd;Ndw;w rigapd; rkPgj;jpa kdpj Kd;Ndw;w 

mwpf;ifapd;gb (2020)> ,e;jpah 131-tJ ,lj;jpYs;sJ. 
a. i, ii, iii, iv  b. ii, iii, iv    c. i, ii, iii   
d. i, iii, iv  e. tpil njhpatpy;iy 

 
115. India has an HDI value of _____, as per the Human Development Report 2020, 

prepared by UNDP. 
a. 0.640   b. 0.645   c. 0.740   
d. 0.745   e. Answer not known 
If;fpa ehLfs; Kd;Ndw;w jpl;lj;jhy; jahupf;fg;gl;l kdpj Nkk;ghl;L mwpf;if 
2020,d; gb ,e;jpah ______ kdpj Nkk;ghl;Lf; FwpaPl;L kjpg;igf; nfhz;Ls;sJ. 
a. 0.640   b. 0.645   c. 0.740   
d. 0.745   e. tpil njhpatpy;iy 

 
116. Which of the following statements about Gross National Happiness Index 

(GNHI) are correct? 
i. The term Gross National Happiness was coined in 1972. 
ii. The king of Bhutan, Jigme Singye Wangchuck said “Gross National 

Happiness is more important than Gross National Product”. 
iii. In 2011, The UN General Assembly passed a Resolution called 

“Happiness: towards a holistic approach to development”. 
iv. India has been ranked 139 out of 149 countries in the list of UN World 

Happiness Report 2021. 
a. i, iii, iv   b. i, ii, iii   c. i, ii, iii, iv   
d. i, iii, iv   e. Answer not known 
gpd;tUtdtw;wpy; vit nkhj;j Njrpa kfpo;r;rp FwpaPL (GNHI) gw;wpa 
rupahdit? 
i. nkhj;j Njrpa kfpo;r;rp FwpaPL (GNH) vd;w thu;j;ij 1972 ,y; 

cUthf;fg;gl;lJ. 
ii. G+l;lhd; muru;> [pf;Nk rpq;fNa thq;Rf; GNP I tpl GNH kpf Kf;fpak; 

vd;whu;. 
iii. 2011y; If;fpa ehLfspd; nghJrig “tsu;r;rpf;fhd xU KOikahd 

mZFKiwf;F – kfpo;r;rp” vd;w jPu;khdj;ij epiwNtw;wpaJ. 
iv. If;fpa ehLfspd; cyf kfpo;r;rp mwpf;if 2021 gl;baypy; 149 ehLfspy; 

,e;jpah 139tJ ,lj;jpy; cs;sJ. 
a. i, iii, iv   b. i, ii, iii    c. i, ii, iii, iv  
d. i, iii, iv   e. tpil njhpatpy;iy  
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117. The latest and 2nd Tamilnadu Human Development report was prepared by the 

State Planning Commission, Tamilnadu Government in the year, _____ 
a. 2018 b. 2017 c. 2021  d. 2020 e. Answer not known 
rkPgj;jpa kw;Wk; 2tJ jkpo;ehL kdpj Nkk;ghl;L mwpf;if _____ Mk; Mz;L 
jkpo;ehL muR khepy jpl;lf;FOthy; jahupf;fg;gl;lJ. 
a. 2018 b. 2017 c. 2021  d. 2020 e. tpil njhpatpy;iy 

 
118. Which district is occupying the first rank in Multi-Dimensional poverty index 

(2017) in Tamilnadu? 
a. Chennai   b. Kancheepuram  c. Thiruvallur 
d. Cuddalore   e. Answer not known 
jkpofj;jpd; gy gupkhz tWikf; FwpaPl;by; (2017) Kjy; ,lj;jpy; cs;s 
khtl;lk; vJ? 
a. nrd;id   b. fhQ;rpGuk;   c. jpUts;Su; 
d. flY}u;   e. tpil njhpatpy;iy 

 
119. Ml;rpahsUld; goFk; NghJ ,th; vd;idf; fhl;bYk; tajpy; rpwpath;> ,th; 

cwthy; vdf;F ,d;d Kiw Ntz;Lk; vd;W vz;zhky;> Ml;rpahsh; ,Uf;Fk; 
gjtpia vz;zp mtUld; goFf – vd;w nghUspd; Fws; ahJ? 
a. Fwpg;gwpe;J fhyq; fUjp ntYg;gpy 

Ntz;Lg Ntl;gr; nrhyy; 
b. Ntl;gd nrhy;yp tpidapy vQ;Qhd;wk; 

Nfl;gpDk; nrhy;yh tply; 
c. ,isah; ,dKiwah; vd;wpfoh; epd;w 

xspNahL xOfg; gLk; 
d. nfhsg;gl;Nlk; vd;nwz;zpf; nfhs;shj nra;ahh; 

Jsf;fw;w fhl;rp ath; 
e. tpil njhpatpy;iy 
Choose the apt Kural for the following meaning 
Ministers should behave in accordance with the (Divine) light in the person of 
kings and not despise them saying, "He is our junior (in age) and connected with 
our family!". 
a. Knowing the signs, waiting for fitting time, with courteous care, 

Things not displeasing, needful things, declare. 
b. Speak pleasant things, but never utter idle word; 

Not though by monarch's ears with pleasure heard. 
c. Say not, 'He's young, my kinsman,' despising thus your king; 

But reverence the glory kingly state doth bring. 
d. 'We've gained his grace, boots nought what graceless acts we do', 

So deem not sages who the changeless vision view. 
e. Answer not known 

 

120. Which of the following statements about Sree Narayana Guru is/are correct? 
i. He evolved into a poet & scholar in Malayalam, Tamil, Arabic, Persian 

and Sanskrit. 
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ii. He set up the Sri Narayana Dharma Paripalana Yagam, an organisation to 
work for the uplift of the “depressed classes”. 

iii. He established a grand temple at Aruvipuram & dedicated it to all. 
iv. Thinkers and writers such as Kumaran Asan & Dr. Palpu were influenced 

by his ideas & carried forward the movement. 
a. i, ii, iii  b. ii, iii, iv    c. i, ii, iv   
d. i, ii, iii, iv  e. Answer not known 
gpd;tUtdtw;wpy; vit ehuhaz FU gw;wpa rupahdit? 
i. ,tu; kiyahsk;> jkpo;> mugp> ghurpfk; Mfpa nkhopfspy; mwpQuhfTk; 

ftpQuhfTk; jpfo;e;jhh;. 
ii. xLf;fg;gl;l kf;fspd; Nkk;ghl;bw;Fg; gzpahw;Wtjw;fhf =ehuhaz ju;k 

gupghyd Nahfk; vDk; mikg;ig cUthf;fpdhu;. 
iii. mUtpGuk; vDk; Cupy; xU ngupa Nfhtpiyf;fl;ba ,tu; mij 

midtUf;Fk; mu;g;gzpj;jhu;. 
iv. Fkhud; Mrhd;> lhf;lu; gy;G Nghd;w rpe;jidahsu;fSk; vOj;jhsu;fSk; 

,tUila rpe;jidfshy; J}z;lg;ngw;W ,af;fj;ij Kd;ndLj;Jr; 
nrd;wdh;. 

a. i, ii, iii  b. ii, iii, iv    c. i, ii, iv   
d. i, ii, iii, iv  e. tpil njhpatpy;iy 

 
121. Which of the following statements about Vaikunda Swamigal is/are correct? 

i. His original name Mudichudum Perumal was changed to Muthukutty by 
his parents due to objection raised by the upper caste. 

ii. He condemned the religious customs and campaigned against animal 
sacrifice. 

iii. In 1833, Vaikundar commenced his meditation at Swamithoppu for the 
abolition of caste differences and social integration of the society. 

iv. His ideas are collected into a text called Akila Thirattu. 
a. i, ii, iii, iv  b. i, ii, iii   c. i, iii, iv   
d. i, iv only  e. Answer not known 
itFz;l Rthkpfisg; gw;wpa gpd;tUtdtw;wpy; vJ rupahdJ? 
i. cau; rhjpapdupd; vjpu;g;gpd; fhuzkhf mtuJ ,aw;ngauhd Kbr;#Lk; 

ngUkhs; vd;gJ mtuJ ngw;Nwhuhy; Kj;Jf;Fl;b vd;W khw;wg;gl;lJ. 
ii. mtu; kj gof;ftof;fq;fis fz;bj;J> kpUf gypf;F vjpuhf gpur;rhuk; 

nra;jhu;. 
iii. 1833 Mk; Mz;L itFz;lu;> rhjp NtWghLfis fise;J r%fj;jpd; 

r%f xUq;fpizg;gpw;fhf RthkpNjhg;gpy; jpahdj;ijj; njhlq;fpdhu;. 
iv. mtuJ fUj;Jfs; mfpyj;jpul;L vd;w E}ypy; njhFf;fg;gl;Ls;sd. 
a. i, ii, iii, iv  b. i, ii, iii   c. i, iii, iv   
d. i, iv kl;Lk;   e. tpil njhpatpy;iy 

 
122. Which of the following facts are true? 

I. Tamil Nadu ranks first among the states in terms of factories with 17% 
share & Individual workers 16% share of the country. 

II. Tamil Nadu has a highest Gross Enrollment ratio in Higher Education. 
III. Tamil Nadu is the 3rd largest contributor to India‟s GDP. 
IV. Tamil Nadu is placed 2nd in Health index as per the NITI AAYOG report. 
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a. II, III, IV  b. I, II    c. II, IV   
d. I, II, III, IV  e. Answer not known 
gpd;tUtdtw;wpy; vJ cz;ik 
I. Njrpa mstpy; njhopw;rhiyfs; 17% kw;Wk; njhopy;Jiw njhopyhsu;fs; 

16% gq;iff; nfhz;L jkpo;ehL Kjyplj;jpy; cs;sJ. 
II. cau;fy;tpapy; nkhj;j Nrh;f;if tPjj;jpy; jkpo;ehL Kjyplk; tfpf;fpwJ. 
III. ,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapy; jkpo;ehL %d;whtJ ngupa 

gq;fspg;ghsuhf cs;sJ. 
IV. epjp MNahf; mwpf;ifapd;gb> Rfhjhuf; FwpaPl;by; jkpo;ehL ,uz;lhtJ 

,lj;jpy; cs;sJ. 
a. II, III, IV  b. I, II    c. II, IV   
d. I, II, III, IV  e. tpil njhpatpy;iy 

 
123. Consider the following 

Assertion (A) : Multipurpose river valley projects are basically designed for the 
development of irrigation for agriculture & Hydro power generation. 
Reason (R)      : Parampikulam – Aliyar project is the joint venture of Tamil Nadu 
and Kerala states which connects waters from seven rivers. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A). 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : gy;Nehf;F ejp gs;sj;jhf;F jpl;lq;fs; mbg;gilapy; tptrhak; 
kw;Wk; ePu;kpd; cw;gj;jpf;fhd ePu;g;ghrdj;ij Nkk;gLj;Jtjw;fhf 
tbtikf;fg;gl;Ls;sd. 
fhuzk;(R ): guk;gpf;Fsk; - MopahW jpl;lk; VO ejpfspd; ePiu ,izf;Fk; 
jkpo;ehL kw;Wk; Nfus khepyj;jpd; $l;L Kaw;rpahFk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW. 
d. (A) jtW Mdhy; (R) rhp.  
e. tpil njhpatpy;iy 

 
124. Arrange the following in chronological order: 

I. Non-Brahmin manifesto.    
II. Madras Non-Brahmin Association. 
III. South Indian Liberation Federation. 
IV. Dravidian Home at Triplicane. 
a. II, I, III, IV   b. II, IV, III, I  c. IV, III, II, I   
d. IV, II, III, I   e. Answer not known 
gpd;tUtdtw;iw fhytupirg;gb tupirg;gLj;jTk;: 
I. gpuhkzuy;yhj mwpf;if 
II. nrd;id gpuhkzu; my;yhNjhu; rq;fk; 
III. njd;dpe;jpa tpLjiy $l;likg;G 
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IV. bupg;spNfdpy; cs;s jpuhtpl ,y;yk;. 
a. II, I, III, IV   b. II, IV, III, I   c. IV, III, II, I   
d. IV, II, III, I   e. tpil njhpatpy;iy 

125. Which of the following statements is/are incorrect? 
a. Transgender Welfare Board was constituted in 2008. 
b. A state level Award for the Thirunangaiyar has been instituted from the year 

2021. 
c. The award will be felicitated on “Thirunangaiyar Day” which falls on 15th 

April of every year. 
d. A mobile app named “Moondram Paal” has been created & worked 

functioning from 2018 
e. Answer not known 
gpd;tUk; $w;Wfspy; vit jtwhdJ? 
a. jpUeq;iffs; eythhpak; 2008 ,y; cUthf;fg;gl;lJ. 
b. jpUeq;iffSf;fhd khepy mstpyhd tpUJ 2021 Mk; Mz;L Kjy; 

njhlq;fg;gl;Ls;sJ. 
c. xt;nthU Mz;Lk; Vg;uy; 15Mk; Njjp tUk; jpUeq;iffs; jpdj;jpy; ,e;j 

tpUJ toq;fg;gLk;. 
d. “%d;whk; ghy;” (Moondram Paal) vd;w nkhigy; nrayp cUthf;fg;gl;L> 

2018 Kjy; nray;glj; njhlq;fpaJ. 
e. tpil njhpatpy;iy 

 
126. My heart will keep the courage of the question and hope the road‟s last turn will 

be the best, 
What is the poet‟s hope? 
a. Memorable life   b. Lovable life  c. beautiful life 
d. Admirable life   e. Answer not known  
 

127. Out love is everlasting 
This line taken from 
a. The secret of the machines b. Special Hero   c. Sea Fever  
d. The spider and the fly  e. Answer not known  
 

128. Our love is ever lasting  
I just wanted you to know, 
That you‟re my special hero  
And I wanted to tell you so. 
Who is the special hero mentioned in the poem? 
a. Father  b. Mother    c. Brother   
d. Friend  e. Answer not known  
 

129. The tempest is considered one of Shakespeare‟s 
a. Modern works  b. Earlier works  c. Tragic works 
d. Last works  e. Answer not known  
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130. Match the following words given under column A with the blended form under 
column B. 
Column A     Column B 
A. Medical + claim   1. Comsat  
B. Transfer + resistor  2. Mediclaim 
C. Telephone + telegram  3. Transistor 
D. Communication + satellite  4. Phonogram 
 A B C D 
a.  1 2 4 3 
b.  2 3 4 1 
c.  4 1 2 3 
d.  3 2 1 4 
e. Answer not known 
 

131. The poem “the stick – together” is written by ____. 
a. Edgar Allan Poe  b. Edgar Albert Guest c. William Wordsworth 
d. Shakespeare   e. Answer not known 
 

132. “Strength does not come from winning. Your struggles develop your strengths. 
When you go through hardships and decide not to surrender, that is strength” – 
who said? 
a. Gandhi   b. Nelson Mandela  c. Aung San Suu Kyi 
d. Malala    e. Answer not known 
 

133. “crips” in British English equivalent to “____” in American English 
a. Sweet   b. Fries   c. Chips   
d. Potato   e. Answer not known 
 

134. Rampaging through the heavens  
Never stopping day or night, 
Which word could you replace „rampaging‟ with? 
a. Charging   b. Rolling   c. Speeding   
d. Flying   e. Answer not known 
 

135. Where did the sparrows built the nest? 
a. In the forest  b. In Ramayya‟s house  c. in a tree 
d. in the garden  e. Answer not known 
  

136. Find out the meaning for the underlined word. 
The postmaster looked at the boy suspiciously. 
1. careful   2. doubtful    3. untrustworthy 
4. distrustful   5. dubiously    
a. 1, 2, 3 and 4  b. 2, 3, 4 and 5  c. 2, 3 and 4 
d. 1, 2, 3 and 5  e. Answer not known 
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137. Your eyes are like the diamond bright, but mine are dull ad leads. 
What is the figure of speech in these lines? 
a. Alliteration  b. Metaphor   c. Simile 
d. Personification  e. Answer not known 
 

138. Select the correct answer for the question from the options given below. 
The person who arrested smith was ____. 
a. Sherlock Holmes  b. Mrs. Hudson  c. Inspector Morton 
d. Dr. Watson   e. Answer not known 
 

139. What was the theme behind  
„the dying detective‟s short story 
a. Possessiveness  b. Criminal    c. Revenge & Friendship 
d. Happiness  e. Answer not known 
 

140. Match the following words given under column A with their antonyms under 
column B and select the correct answer from the codes given below. 
Column A   Column B 
A. Serenity    1. Shallow 
B. Profound    2. Retard 
C. Chase   3. Anxiety 
D. Charming   4. Withdraw 
 A B C D 
a.  2 3 4 1  
b.  3 1 4 2 
c.  1 3 2 4 
d.  2 1 4 3 
 

141. In which BCE, the romans stopped the Greek Olympic games. 
a. 364 BCE  b. 354 BCE    c. 384 BCE   
d. 394 BCE  e. Answer not known   
 

142. Choose the correct question tag: 
None of the food was wasted. 
a. is it?  b. wasn‟t it?    c. was it?   
d. isn‟t it?  e. Answer not known  
 

143. Which of the following is the title of a poem written by 
„Norman little ford‟ 
a. A tragic story   b. The River    c. The Comet  
d. A poison tree  e. Answer not known  
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144. Identify the sentence with hyperbole. 
a. He has fallen asleep    
b. Why man, if the river were dry, 
    I am able to fill it with tears 
c. The child is father of max 
d. You are telling me a fairy tale  
e. Answer not known  
 

145. According to the author Sir C. V. Raman  
The imaginary elixir of life is _____. 
a. Milk   b. Honey     c. Water    
d. Amrita   e. Answer not known  
 

146. Find out author who had written autobiography of „learning the game‟? 
a. Sir C. V. Raman   b. Sachin Tendulkar  c. Rabindranath Tagore 
d. Alphonse Daudet  e. Answer not known  
 

147. „I done it out of pity for him. 
Whose words are these? 
a. Aunt Polly   b. Tom    c. Peter   
d. Mark twain  e. Answer not known  
 

148. Which of the following options has a sentence with the verb in the active voice? 
a. Many students attended this workshop 
b. Many students were questioned 
c. Many students have been screened 
d. Many students had been given a warning. 
e. Answer not known  
 

149. Which one of the following statements is not related to the lesson 
“The cat and the painkiller”? 
a. Tom became unhappy because of friends absence 
b. Tom used painkiller 
c. Tom didn‟t have conversation with the cat. 
d. Tom‟s aunt name is Polly. 
e. Answer not known  
 

150. The poet “Mary Botham Howitt” is period is ____. 
a. 1765 – 1820 b. 1799 – 1888  c. 1760 – 1719  
d. 1950 – 1810 e. Answer not known  
 

151. Which of the following sentences are in Active Voice 
I. they sing songs in the school annual day. 
II. a notice was sent by the water supply management. 
III. you gave him your pen. 
IV. he has built a house in his native place. 
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a. Nothing is correct    b. I, II & III are correct 
c. only II, III & IV are correct  d. I, III & IV are correct  
e. Answer not known  
 

152. Fill in the blank with the suitable verb form. 
I ___ (surf) the net when the explosion occurred. 
a. will surf   b. had surfed   c. was surfing  
d. will be surfing  e. Answer not known  
 

153. Which of the following lines found in the poem “the secret of the machines”? 
a. Our love is everlasting. 
b. Though our smoke may hide the heavens from your eyes. 
c. Courage isn‟t a brilliant dash. 
d. The stick – together families are happier by far. 
e. Answer not known  
 

154. Fill in the blanks with the correct cogent order of prepositions given below as 
options. 
_____ pursuance ___ your letter we are writing today ____ the chairman and 
posting it to him along ____ your letter. 
a. in, to, with, of   b. in, of, to, with   c. of, in, to, with 
d. with, of, to, in  e. Answer not known  
 

155. Comprehension: 
The British, on seeing Lakshmi Bai‟s leadership wanted to capture her. Sir Hugh 
rose was given the task. His army fought the British furiously, they were pushed 
back by the enemy‟s guns. 
What do you mean by „furiously‟? 
a. Calm  b. Unhappy    c. Vigorous   
d. Violent  e. Answer not known  
   

156. Match the characters given under column A with the titles given under. 
Column A     column B 
A. Seagull    1. The Tempest 
B. Miranda     2. Leaning The Game 
C. Mr. Watson    3. His First Flight 
D. Ramakant Achrekar   4. The Dying Detective 
 A B C D 
a. 1 3 2 4 
b.  3 1 4 2 
c.  4 3 2 1 
d.  1 4 3 2 
e. Answer not known  
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157. A sonnet is a poem which consists of _______ lines. 
a. Ten   b. Eleven   c. Twelve   
d. Fourteen  e. Answer not known 
 

158. O‟re the yellow pebbles dancing. 
Through the flowers and foliage glancing. 
What is meant by „foliage‟? 
a. Roots, Flowers     b. Barks, Stem   
c. Cluster of leaves, flower and branches  d. Stem, Root  
e. Answer not known  
 

159. Find the odd sentence which is not the same sentence pattern as the other three 
sentence. 
a. he wore his uniform  b. I ate an apple  c. he was excited  
d. I like ice – cream   e. Answer not known  

 
160. To which nationality does noted poet „George Eliot‟ belong? 

a. China   b. India    c. England    
d. Australia  e. Answer not known  
 

161. In which country the first true paraolympic games happened 
a. Italy   b. Rome   c. USA   
d. Australia   e. Answer not known  
 

162. Match the following poetic lines in column A with the poets in column B and 
select the correct code. 
Column A       column B 
A. To Brave the Thickening Ills of Life   1. John Keats 
B. A Thing of Beauty is A Joy Forever   2. Brigette Bryant  
C. I Think of You and You Think of Me   3. David Bates 
D. Speak Gently! – It Is Better For   4. George Eliot 
 A B C D 
a. 2 3 1 4 
b.  4 1 2 3 
c.  3 1 4 2 
d.  3 2 1 4 
e. Answer not known 
 

163. Choose the correct plural form of underlined word 
The nucleus of atoms consists of protons and neutrons. 
a. Nucleusos    b. Nuclei   c. Nucleous   
d. None of these  e. Answer not known  
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164. Find out the odd pair from those given below. 
a. Victor Savage  - The dying detective 
b. Ajit   - Learning the game 
c. Seagulls  - The cat and the painkiller 
d. Water   - Sir C. V. Raman 
e. Answer not known 
 

165. From where the poem „a thing of beauty‟ been taken? 
a. From Keats Work - Endymion – A Poetic Romance  
b. Ode to a Nightingale 
c. Ode on Melancholy 
d. Odeon Indolence  
e. Answer not known  
 

166. Fill in the blanks with the most suitable word from the options to find 
homophones. 
She held the ____ in her hand. 
a. reigns   b. rains    c. reins    
d. raigns  e. Answer not known  
 

167. A book written by Isaac newton is ___. 
a. natural principal of mathematical philosophy. 
b. mathematical principles of natural philosophy. 
c. equinox principal of philosophy. 
d. equinox principal of mathematics. 
e. Answer not known  
 

168. There are rich folk, there are poor folk  
Who imagine they are wise, 
And they‟re very quick to shatter all the little family ties. 
What do the rich and poor folk imagine themselves to be? 
a. wise   b. foolish     c. brave    
d. obtuse   e. Answer not known  
 

169. Pick out the sentence with SVIODOA pattern. 
a. he gave her a lot 
b. last night I had a bad dream 
c. lucy presented the youngest one (puppy) to her friend. 
d. henry gave her a pen yesterday. 
e. Answer not known  
 

170. In the lesson „the woman on platforms‟ which was written by „Ruskin bond‟ 
Where was Arun travelling to? 
a. His home town   b. His boarding School  c. His room  
d. His neighbor‟s home e. Answer not known  
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171. But remember, please, the law by which we live, 
We are not built to comprehend a lie 
What does the machine ask us to remember? 
a. law of botany   b. law of physics  c. law of chemistry   
d. law of psychology  e. Answer not known  
 

172. Identify the gerund form from the options given below. 
a. to find fault with others is easy   
b. writing is always better than to read. 
c. David wants to study biology 
d. he likes to read science fiction  
e. Answer not known  
 

173. Why did the narrator‟s family decide to leave Bruno in the zoo? 
a. he was becoming notorious 
b. they didn‟t like him 
c. he was growing too big to be at home. 
d. they were scared of him 
e. Answer not known  
 

174. In which poem do the following lines occur? 
“then the matter 
Of scorching and choking 
In sun and air 
Browning, hardening 
a. on killing a tree   b. sea fever   c. a thing of beauty   
d. team work   e. Answer not known  
 

175. Match the following phrases given in column A with the blending words in 
column B. 
Column A      column B 
A. Information + system   1. Vash  
B. Bombay + hollywood   2. Moped  
C. Motor + pedal Cycle   3. Bollywood 
D. Volcanic + ash    4. Infosys  
 A B C D 
a.  3 2 4 1 
b.  4 1 2 3 
c.  2 1 3 4 
d.  4 3 2 1 
e. Answer not known 
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176. Where did Kalpana Chawla completed her B. Sc in aeronautical engineering? 
a. Punjab engineering college  
b. Hindustan institute of technology and science 
c. Acharya institute of technology 
d. Madras institute of technology 
e. Answer not known  
 

177. Who was there on the ledge with the young seagull for the last twenty – four 
hours? 
a. his two brothers  b. his sister   c. his parents   
d. he was alone  e. Answer not known  
 

178. “Caroline Ann Bowles” poet says 
The sea is like _____. 
a. sail    b. line    c. eternity    
d. river   e. Answer not known  

 
179. “Faster than fairies houses, hedges child who clambers” 

Find the figure of speech observed in the above line. 
a. Simile    b. Metaphor   c. Alliteration  
d. Personification  e. Answer not known  
 

180. Find out the appropriate comparative degree for the following sentence. 
This is the best response. 
a. This and that are better responses. 
b. This response is better than that  
c. This is a good response 
d. This is a better response than any other. 
e. Answer not known  
 

181. Find out the part containing an error. 
Rama/as well as Krishna / are likely to/ get the job. 
a. Rama   b. as well as Krishna c. are likely to   
d. get the job   e. Answer not known  
 

182. John Masefield was appointed as poet laureate of the United Kingdom in ____.  
a. 1925 b. 1930 c. 1933  d. 1932 e. Answer not known  

 

183. And inside you can tell it has a ton of space, 
But at the same time it is bare to the bone. 
What is meant by „bare to the bone‟ 
a. Nothing in the house 
b. Somethings in the house 
c. Everything in the house 
d. Rare things in the house 
e. Answer not known  
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184. The ____ glimmered over the smooth flowing stream. 
a. sunlight   b. moonlight   c. satellite 
d. none of the above  e. Answer not known  
 

185. Identify the speaker for the following line. 
“I want you to go across the dike and take these cakes to your friend, the blind 
man” 
a. Peter   b. Peter‟s mother  c. People of holland 
d. Peter‟s friend  e. Answer not known  
 

186. The systematic planting of suitable trees would directly or indirectly prove a 
source of ____. 
a. rainfall  b. rivers     c. oceans   
d. erosion   e. Answer not known  
 

187. Let me but live my life from year to year,  
With forwarding face and unreluctant soul;  
Not hurrying to, nor turning from the goal;  
Not mourning for the things that disappear 
Identify the rhyme scheme of the given lines  
a. abab  b. abba    c. acba   
d. aaba  e. Answer not known  
 

188. _____was suspected by everyone to have stolen the nose student. 
a. Ramayya  b. Meenakshi Ammal  c. Kuppayi    
d. The Sparrows e. Answer not known  
 

189. Choose the complex sentence out of the four sentences given below. 
a. Falling prompt payment, the goods must be returned to you 
b. He was a mere boy but he offered to fight the giant  
c. He succeeded although his success was not expected. 
d. He must have done his duty, for he is a conscientious man. 
e. Answer not known  
 

190. Which one of the following poem has not been written by the poet „Henry Van 
Dyke‟ 
a. A home song   b. A child in the garden 
c. A balled of santa claus   d. Sea fever   
e. Answer not known  
 

191. Find the words that are not related to the underlined word. 
He just tugged the edges 
1. joined  2. Pushed  3. Pulled   4. Pasted  5. Cut  
a. 1, 2, 4 and 5  b. 2, 3, 4 and 5  c. 1, 2, 3 and 4  
d. 1, 3, 4 and 5  e. Answer not known  
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192. Match the words under column A with the suffixes 
Column A    Column B 
A. Anchor    1. Ling 
B. Murder    2. Lette 
C. Hire   3. Age 
D. Novel    4. OUS 
 A B C D 
a.  3 4 1 2 
b.   4 3 2 1 
c.  1 2 4 3 
d.  2 1 3 4 
e. Answer not known 
 

193. M. Hamel is introduced as a ruler – wielding teacher. 
This demonstrates that ____. 
a. he is concerned   b. he is adamant  c. he is unfeeling  
d. he is hard taskmaster  e. Answer not known  
 

194. Which of the following character was murdered by Culverton Smith? 
a. Victor Savage   b. Mr. Watson  c. Mr. Holmes  
d. Mrs. Hudson  e. Answer not known  
 

195. Don‟t ever try to saw her pride, her self – respect 
she knows how to thaw you, saw you – so beware  
what is the tone of the author? 
a. calm   b. angry     c. happy    
d. pleased   e. Answer not known  
 

196. Find out the incorrect sentence from the following. 
a. she is minor so she needs a guardian 
b. they saw the teacher so they became silent 
c. as it rained so the match was cancelled 
d. the pen is very beautiful but it does not write smoothly. 
e. Answer not known  
 

197. Choose the option that contains the right sequence of articles:- 
My manager is ____ multifaceted personality. He was elected ____ chairman of 
an board. I am sure he will be ____ best chairman for he is ____ honest worker. 
a. a, the, an, the    b. a, no article, the, an 
c. an, no article, a the   d. no article, an, the, a  
e. Answer not known  
 

198. What helps the tree to grow as per the poet Dr. Gieve Patel? 
a. earth  b. air    c. gardener    
d. none  e. Answer not known  
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199. Which one of the following options refers the „cheering sight‟ in south India is 

_____? 
a. rainfall     b. rivers when they were empty 
c. rain fed tanks when they are full. d. rain fed tanks when they are empty. 
e. Answer not known  

 
200. The line “because of you knowledge of the eastern diseases,” I replied occurs in 

the play. 
a. his first flight  b. the tempest  c. the dying detective  
d. the last lesson  e. Answer not known  

 


